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Check the question paper for fairness of printing®

mstructions : 1.

inform the Hall supervisor immediately.
2. JQ

Use Blue (or) Black ink to write and ur}% 1d pencil to draw diagrams.

eluyY : ued — 1 (e uifl-sraugeiwsd), uGE — JI (@uif-elsbidusd) Heihsa
sllenLSHeMsd eflenLwefEma. %b

Note : Candidate should answer Part —1I (

scparate answer-books.

ugs — I (e_uifl-sr
; 8x1=8

GO : 1. sivanbs elendeknie

S ellenLsefst Wen ghymLw slspLowsd CHTHOSBSHEH!

enem o Cardgml a(DGIS.
stions

2. QanBésiulL
GO GLeT glent
Note : 1. Answer all the qué

ost suitable answer from the given four alternatives and write the

3) rv g,nsngrf}msah 965 WIUGNIFTT UsHLGmans QBTaiigha@0
1) gunm@@m@’&l;u@gg;UuL@msn STaUTHGsT QUIHSSIMLWEF CFwUWw (g
wglohmssie alBUSHENS WFUS LDMHBIHHIEGST BenL QU simen

a) Pm produced are genetically identical

b) Endangered plants can be propagated

¢) Sometimes undesirable genetical changes occur
d) Disease free plants can be produced
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SR — I ion of Hae 111 restri enzyme o,
\’hlch is the set of fragments obtaincd by the ac :

5' Ggees!
3'CCcGGs' [

a) ' b)
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CGG G
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3. RNAI afissLs8p6 96 seiopurs O (pett
o) gnem@Bo  RNA, RNase-Il @gf.rr g6 GLOLWIE  BMLUILE Ry,
USULESSILBSDE!.

anL(Bu@urr@sﬂ feseomer  RNA i

o) si RNA-g@er  allvar
o) @ owuwluier RISC @60 CFISSULE g

QeusiliLn_snLcuendsd SB

@) (o) wbDD (&) GreiHo. gl
#) CRISPR aigyb s SauflenFunGED 2 _LISTemILD qures&uu@a;]m@_

A simplified model RINAI pathway is -
a) The trigger essed into a short interfering RNA by RNase II enzymes.

b) si RNAs atefoatied into the effector complex RNA — induced silencing complex
c) Both (af agd (b

d) The Befie dditing tools such as CRISPR can be loaded.
4, é&‘ Do abs s Chyy sGaGUTESSHE Fflune LgEHmeosst?

o) (B&;miﬁri) <4) ilgngy
Geuir ?Tas&r@g,a') 5@@}&555"7
g,nmg]i@&s&,sﬁ IBTBDIHE&&H6T
SUHIENLOILITE @60 SUGITEMLOLIT & (3 860
Peobdlibe wibpizsd BOsSHe wrppse
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@ B®m60610 i) R gami
LIGOSHERIBHET  HITewIBE60 {mt,@
GeuT GHTewIHEH60 S
BIHDIHSSET L6  &601[HaEmeTTdh g,rrmﬁr@f!ﬁbQ)
QUENIENLOWIT & @ &6V @it @Iftﬁﬁl@.fbﬁb Q
BeVSSMES LLIHDIHE [[)mj]ml(é{b&ﬁ

ms&rmmuﬁrds@
: ﬁmiﬁﬁm@m@@

Which one of the following is the correct steps in the digect embryogenesis?

a) Callus b) O plant
v v
Embryoids
- X
Root induction 0 Plantlets
v v
Plantlets % Hardening
v v
Hardening Q Transfer to field
v . q

Transfer to @ '
c) Callu$ d) Explant
\J v
Multiple S?Q. uction Stem

v
R ction Node
v
Plantlets multiple shoot induction
v
Hardening Root induction
M v
Transfer to field Plantlets
- + )
Hardening
v

Transfer to field
5. dPpeaumeueTeubensL QuTmHE Ffumer el emuwié BT
(i) usenod smusr - (A) Qamped FHurs o meuTdsLILBLD
ECEuRY Ce1flGsLILBID STTLET

(i) Fmbusd SmTUE - (B) sueliioeHLsusae0 GFHGSILEBLD SITUET
(iil) Mev emiTLIEH - (C) Q@ mebgullit LIge afQur@gentes GeldsULpBD STTUT
(iv) uqry esmiues - (D) 2_uiliré Camensdsd BFOGSUILGBID SiTUeT
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o (i) D (i) B (iv) A
@) () B (i) C (i) D (iv) A a“’(ig'JDC(i(i))c (i) B (iv) A
@ () B (i) A (i) D (iv) C ")
Match the following and find the correcl
(1) Green carbon - (A) Carbon in industr
(ii) Grey carbon - (B) Carbon in atmosphere

(111) Blue carbon - (C) Carbon in fossil fuel
(iv) Brown carbon - (D) Carbon in b,osphch) cd 5 (,1[) B @A

answer
© rialised fores!

: . . b) (i
a) (i) B (ii) C (iii) D (iv) A . ) C (i ) A
N\ (G . " d) (1) D (ll)
¢) () B (i) A D (iv) C -~ )
i) A (ii)) D (i | o M . u;is)ugm?

6. dSpamamabys abs @ QybA iy
D) wiE. QU @egsT &) B® _ o
@) Ggmeonend @pEIID ) G“ﬂalﬂu
Which one of the following is an alien invasive spcchS?
a) Mangifera indica b) Eichho

¢) Solanum nigrum d) Zigip pa
7. &mml (A) : smw elensd  Boale (P& QUi @ewTasi gy g"ﬁsu'mu

DHBWTSHE QeTengHEBSmS!.
amemd  (R) :  ureleom  @elbLImHS
anuafloss Gsie Sramiss 2 HUSHD
3) (A) &f; (R) sam

&) (A) &f; R) —A - ow ellends
sllsids G &I )
Assestion (A) : A variety form

with respect to all genes. -
Reason (R) : The pure line plan@ roduced by asexual method or vegetative propag

ssipes

oposug omwadl  BeCLmEE; :
LI (BB 6T anT.

) (A) sam; R) &

F) (A) #f; (R) — A - enw

line selection method shows more homozag
B

method.

a) (A) is correct; (R) is wrong b) (A) is wrong; (R) is correct

c) (A) is correct; (R) does not exp#in (A) d) (A) is correct; (R) explain (A)
8. &1m @oniT LoewILsuLl D’

3l) Lor 1) usuw @) suremip ) ey syl

Which is the tempera a0 fruit?

a) Mango b) Ja c) Banana d) plum
. _ Uifley — 11/ Section — II 4xx
JCHID h ollaili & & 6T 5 sulemLWierfléeseLb.

—

Ansxyer any the following.
9. Byl QoM sl 2-OUWEEEDS BTG QUEmEIGHET 5

2_euié bl CaupLBhsis.
. L]?;f I 6E«an Sporic megaspore development from tetrasporic development
. UER ODmID oL GLENGg LT Lssiisefg urpbufu  Quosiiedsn LT

(e Hsiupmelsiensy eeir?
Inheritance of chlorg
why?

I CACe8ssd 2 pusdulss Qam i

SILT @l y

Draw the flowchart for tritica]e prc)%uctio

12.  o156yrurdiefuwin QUIOCLA 6761y ;
GCFwesO LB M. Banone g
Agrobacterium tumefacieng j

plast and mitochondria characters are non-mendelian inheritance P2
HMG BUHT &
DU OTIBEAD @@  Beven GBS ¥

gummg&, GUINGE.
a good i '
Bood vector in gene transfer. State the reason for it
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Tyt : 663 i o PR , . 5

why do we add dimclhy

I sulphoxide. o
HUHOUIIG Liigayene phoxide, pl

yeerol or sucrose before cryopreservation?

» : T 611pma,
write the ccological hicrm.cﬁia’
; . Wfley — 111/ Section 111 1%3=0

gOBEID WM 6o as s om 4 n— 3%
et Wfidset PEDEG oflsniis aiouppies efenn serh-18da mCLMLIOTS Q
;ﬁ;};’;})‘;ﬁ;ﬁ;e of the following in which question No.18 is compulsory.

: 60 LsLB — , A . .
&solIBLWeS| lDUU@)Jdamshﬁu gmuwm eoTdHeIT  Cmmeimiong  IoyugpIhSsle 4L m

. UBlsoensv. @mene aflsticsm
The different colours of flower Miabilis i . '
r Miabilis jals i enes
themselves. Explain it. Jalapa is the result of blending of phenotype no¥ g

QaueroLiTed @meuu@uu Comgmman e169an (ELISA) Gongmemenemws elLé g sisutml?
Western blot test is more perfect than ELISA How?

g_ujlrﬂt.uso SLEHSNI9SH6T a6Imsd ereimen? QT aBHHIGETLB HHD s

What is referred to as biological indicators? Give an example.

BhETVESBAID OB auwssaisd oiBsren gm Helibs @mmwrﬂmm gyein?
Now a days Azolla is an inevitable organism in paddy field. Why?

SOPETE o, OLRE s&MFsFnGE HoGabmu gm b Coorgenan  anmiiLisiaT I

Bo OB (PEBSHEHMS THEIE.
TN Govt suggest Nilavembu as a medicine for Dengue. Writc@dicinal importance.

Wfley — W/Section—Q 2%5=10
BpdaETamid elenToseEndE el weilssea)b.
Answer the following questions. O

L FFlesEmn SHTEUTRIGEHD  Geneibhl LL%M@)@ Hened  sUTPEENBML

CuhlETedamen QT aBHHIGSTLBLET @oHman &,

(oI8060 ey .
Hensminisit G meuensoHemen  EeneulLiL] H6D DIDFRIBET  61(BSHHIHBTL (HHEHL 6T
N 1Y . . o
Insects and plants are leading commensali of life. Explain it with an example.

e
Explain coupling and repulsion aspect agC with the help of examples
QUDEHIL  [HEVEBTEUT 6T 65 Lm&E QUENLOLILJBENET  61(LDHIE.

DEVFI)

QM G0 Lo GOGHIIEI LIEY %mu&;ﬂ&;ﬂms&reﬁ@mu umn elend@s.

Write the morphological ad% xerophytes.
(or)
uctivity of an ecosystem.

Explain the different classc@

LeH * uif-efeoriaswsy) / Part —II (Bio-Zoology)
\:gﬂﬂ@uaﬁmm . 35 /Marks : 35)
Ofey — 1/ Section—1I 8x1=8

@O0y : 1. DimIHD! slenmimEph@n alamweildboab
canlh 7. QEnBHEIULL HT6E slenLmaflso sad ghumLw aleLmwud CaTHOBGHE
| @GP BL6T sfepLuflensmud GFIHGI 6TURDIS.
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Note : 1. Answer all the questions
wer from the given four alternatives and Writg

2. Choose the most suitable ans
option code and the corresponding answer
—epuil) LB 2_GEIERIDY e,

1. aSpsumaienaibmisi ehsn gem oy Gesial 18)D)]

U aILID?
&) DIMEUBET DFHILD alBUBHMEG LsvalenILI(B 5 B A meT
&) omase smUsmuwignst 20 2B BEHSH S Guesns HOS
oMbl Cosvels HmTeNaS LsETIUIUBSHBHIBD
) HEETT

@) DIMEUB6T
HHODIGEL WDHOID HHIPLENL SHLHHULBD 3

F)  DIMENEG
LIsVEN T LILI(B & SIS ST 6.

Which one of the following is true regarding copper reléasi s?

a) They suppress the ovulation

b) They can remain in the uterus for more than 20 yeao

c) They suppress sperm motility
d) They suppress fertilization and conduction of Zyg
2. 9m afGwmisdwr e, GamTeLTmFSE ffﬂ?lDUu 2 GHLW  ETSTTE (G,
Qussiienemt  Wwemsdmnit.  SeMEEsEE — UDsGLD GREMSHeT  sTeveuy g,
' FNSHH LIS DISET 2_6iT6ne ?
0 6 QLIEKTEET (LD&HEITEHSEIT)

D) QLEMEET (LDSSIBET) FTSHT]J60ILONCI6U

LT SLIL|E G 6TTeTTEaeUTEH6IT -
&l) &SI LI &S\ @ 6T E0T 6T EB 6T 760 LDEETIEHEN &S ERILDTEICUTHENTES
EmUUTTESETT.
W) FMETYEMOTENEUTEENTS @mUUTTESsT

@) LSS WOHDID DSEITEHET

F) LD&EEST MO w&ﬁ&sﬁ% G FrsnyEmOTEIEITEENTS SHUUTTSET Qyams
LoSH6TSH6T GHIUIS SHTE

A haemophilia man marrie

condition to their children?

HUIITTTEBSTT.
mozygons normal woman. What would be the pas

a) Sons would be n aughters would be sufferer.
b) Sons would be suffggerayt daughters would be normal
c) Both sons and da % pavould be normal.
wefs Jvould be normal but daughters would be carrier.

d) Both sons and Yagghvefs
B 064 ey eiubsals (Gamnre) Gswsd Guuir

3. UAA, UAG wr

20) @@5@@%&5671 &) CQurmenmm CasmLmenassi

@) (o) wBgud (24 F) Qam s GemLTesissi

UAA, GA codons are designated as

a) Stops codgns b) Non-sense codons c) Both (a) and (b)  d) initiator cod
4, &paEen m Ounmsd sflwrenr el s sremas

(j). - (A) oowdBsr urdefwb

(ii) P IniG - (B) efliifiBwm

(iii) 1pLugsiluim - (C) airdlaflur
(iv) yBumefld UGmé - (D) Canfefl urdefwid

a) (i) B (ii) C (iii) D (iv) A b) (i) B (ii) A (iii) D ¢iv) C
¢) (i) C (ii) D (iii) A (iv) B d) (i) D (ii) C (iii) B (iv) A
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a
(i) Cholera 11(_1 ﬁ"?f\")“;wcﬂrrccl answer
(i) Typhoid ] 'yt‘()bactcrlum
i) Diphtheri (B) Vibrio
ii Cri
y pifheria (C) yersinia

(iv) Bubonic Plagye (D)
Co actert
a) () B (i) C (iij rynebacterium

. A ) D .
b) B (i) A i) p ((Ii?)?:
¢) () C (i) D (i) A (iv) B
g‘;)‘ MWD (i) C (iii) B (iv) A
. S|PRUmEUSTOUm Y 6i g
20 &)6&3@@?{36?;211“%1;6?"651 L

) oNeroed | sl 9@ /@

o) o - Qg,ng,ﬂg,g,mch@LuLL S eng

) l!)f?'fﬂfﬁﬁﬂ T Qbsse gendGstet osmene GMBHH
F) GUUT Udk BEUOUAW |y

Which one of the followin

' g is correct pair? O
a) Cyc_losporm -A - immunosupprcssant
b) Whisky - fermented grape

¢) Statins lower blood glucose level
d) Super bug Giant insect

. Gadl gA) P OTBIIMONG SiGEGL Geeeds e wLigan G.wsbsﬂ g seliednal.
anyend (R) : Qosvmsi, @ensGaranen ABHHIH CnTeiens i @meaonenfang
2 (A) afl; syemmsd (R) poug

Q) (A) saum; auemed (R) o

@) (A) whpid (R) @yem@Eeo af aenmsd (R), A-em 58561 606M6D
) (A) wbpb (R) QremiGéo s (R), A-ew eferds

Assertion (A) : Normal secretion of insulin prevent tes mellitus
Reason (R) : Insulin facilitates the cellular uptake of luose.

a) (A) is correct; (R) is wrong

b) (A) is wrong; (R) is correct Q
¢) Both (A) and (R) are correct, but (R) do%plain A.
d) Both (A) and (R) arc correct, (R) cxﬁl I
. endgrisn Caudlu yhist @hs 24l Te UTGISTSSILLL LGS
o)) dmisid &) WIrenen @) usd F) onems Gsmby

STILTOmSLD ‘x
Kaziranga National Park is pro ca for : |

a) Lion b) Ele c) Tiger d) Single Horned Rhinoceros
. dpsu(meuseuDIIGT 61l @%wﬂmu GOUBHHID QuTmHET Hisve0?

) e ped @@m”eg”om &) sniuen QL greGmreny @
2) svamL Gy @,(Esnn(%g\ n@ym sniussIGHs F) epLyey aubemenG
Which one of the following is not a ozone depleting substance?

a) Mcthyl chloroform b) Carbon tetrachloride
¢) hydrochloro fluorocarbons d) Nitrous oxide
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4%y,

9,

15.

16.

17.

18.

19.

20.

21.

-— Y i ) ) ll
; Tl

_ fmoD:
IBmEID e, elemdbmenba OMI-HIE
Answer any four of the following.
eO@LNBrnRanuf’ Gavefled i 10BITEI o y
Differentiate merozoites from sporozolles. grens 90 I dgj@"""@ﬁx
R AAE o (@I haN D, alen B 7 .
Qa e o317 is why?

y -O .ﬂ)fiﬁl 6]631 atof for Spcl.lnalochICSls y

Scrotum acts as a thermo regul &
).
onflumgad — B — uller opfgmems 6D

Write the symptoms of Hepatitis — B. — g@g)@?@‘m 1LY,
|

@it G BmILIBHHI®
AN

Bumens Gausnnesienioullein (pdhdill DT ,
Write any two key features of organic farmmg-?

eafldaniNubgmb sen SEDPHBILGMD] LT eI
What is called positive photolaxis? o el
Uatiuaned giu@n o_ulfiu alleere|hen

Write the biological effects of smog? Q
_ n—TI \ ; 3x3.
Liifle] 111 /% eilemm e16mT-186(% &I Lmuipyg,

I8H@ID peiml elenrdmEnde eleLws Sl

allenL_wefld:ma|ib.
Answer any three of the following in wh
eroGUToL BLrGpgelandlard - @.ﬂﬂﬂﬂ@
Draw the diagrammatic representatiope RS
opp  GuBHETITS Iﬁ’

K  HTeodolwm :
CaHTeNmIeUSMBTET TNTHISHTn Y6 oM 611 56| LD- ) . _
&m 53 % non thalassemic parents. Explain the possible

1)
&0

westion No.18 is compulsory.
551 euEnJLIL-LD 66N

atogenesis . .
groffwr  @Lbes  UDsang. g

A thalassemia baby is born to a
for the occurrence of thalassengfa. . :

SMIB Oged Hdgens el LaTusme BlysGh. BFHMET SHSBIH (way
QN6 (&Hb. .. .

Stem cell therapy will incre longivity of human life. Explain it logically.

o _gal Qumb aumpsamEuleimba Ldihs ampgsme CanuGoHsis

Differentiate mutualisg '

gally Geuenmemienlo, S
Intensive agricul;ur

I LsUeuendd ST GHenmeugl ereusummi?
% in reduction of genetic diversity. How?
%5

Aifley — IV / Section—IV

B\ D& B TEILD @@&@ allenL e S Ha|LO.

Answer thegfollowig questions.

Gammonh Wyrmeaens semiLfu o _sellw geafl Gupelear syuielener eflenégs
(S16060g1)

gimansGanegl  DNA, Groms oifdlLed  Oswspompse oigsseons  elas:

G1GHTLIEN) &5

ExpN ansformation experiment of Avery et.al.,
°
(or)

Satelﬁ%NA forms the basis of DNA finger printing. Explain?
emning — eleCuTd Oomsemasulsd oI mdwster smyeafss wWrensy? SleuManD 61516“5@‘*5
. . ) (ETME)) |
ybp Gprenwsh HEUUHD BEMISSELULDG ndmar afendes i
What are the assumptions included in Hardy Weinberg Principle? Expfain them |
(or)
Explain the role of immunity in prevention of cancer.
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\ 20 / Model questi 019-20-(2)
Buospsney . : [uestion paper 20
Qswimd i / Higher Secondary Second Year
£_ufiflwet iolog
B0 whpD et fwsd / Biology

. &leod e / Tamil and English Version)-
proold SIS+ 15 BB mime + 300 \pg) - @wr@g, )mgu@umm :
Time Allowed : 15 minutes + 3,00 hrs %

_ Maximum Mar
C)E:0 i . :
ey L. smesg slenbsed slunsl LHuTd o sEnET aEUSm &

Cansioneyd.  ssiugele  @mpuicids  omms &'9”3‘&’”9’Uﬂ®
2-Laguned Cpflaldeseab.

3 2. oo (Disveo@) mEUY enwowlemen WLGEED QENBHEGD &m@“@m@m

LWSTUGSHS GeusmBid. ULmissit eusnyousheE @usTds umairu@@
Instructions : 1. Check the question paper for faimess of printing. If there is of fairness,

inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline and pengi

draw diagrams.

ugd — 1 (o ulf-sreayelus), ugsd — I (2_uif-cleoridwsy) SeilHsef
sllenL SHHmeflsd eflenLwefbEab.

Note : Candidate should answer Part — I (Bio-Botany) & Pe (Bio-Zoology) in
separate answer-books.

G@mily :

ugd — 1 (e ulfl-sreuyeiuisd) /Part—l@otany)
(o&Cuesiesst : 35 / Varkg: 3
 9fley — 1/Section—I 4 ~ 8x1=8

GOy : 1. Simeasg elamssEnsE s:ﬂemu% 1D
2. Qaer@HsiulL Breg el seflsd
GEUILGLeT el ulsmemy

Note : 1. Answer all the questions

A gihysmLw alemLawd CaThOSGHSI
W5 SDIE.

om the given four alternatives and write the
option code and the COF&% answer

i pmeit 61 D i edaflelr UMW ©_STEHIOWISOEINTS SUNSEILID?
1. &\paupeusIeuDIIET erbHD Qe u umsd) i . \ s o
3 ero@uUITBTEUTeilae %_@;n waIbsHEGeNa sl CLmiamed  whmd  LIlLD

urisellaSDal . o . o
o) Bg WEIHHEHIS b5 oIfed HTEESHIGHE UTSIETILSIGESDE!.
@) eBUIGHTELITEIschmy snisdsissied®bs GUBILCLS!

eI msﬁlm D& B HHIBET BewiL.  STeUD UTHISTILTE QmEs B

#) Opmeog :NK

o saHnD!

i ding sporopollenin?
i the follo»ng statements 1S not true regar
gglggrco);zlcl):nin is contributed by both pollen cytoplasm and tapetum

b) It helps the pollen to withstand against strong acid
in i i hycobilins
ollenin 18 derived from p o | |
(c:l)) ?tp 1?:55 pollen during long period preservation in fossil depQSIts.

2. Choose the most suitaléle "
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SANEITE
SRR med

‘ amMeemb a6y 4,060
:) n:mmq@n.am‘?ml_@ul b @iy B ’
23:3:0 sisqignnb LM Cmnmm s almb i

O AU, aGemef smenmsit anim e 9H

W) @O Dismea e L em et T et L1

agmi
VU IHTade

!
it P

ungl,rm)um,mr

www.TrbTnpsc,co . ]
i -’h’“’“'”j"’(ﬁ&'. r?:._'_u.u;m Wy
mml. @ TID  (DS6)f a i

0 he
5ol %q

m_,mm-,mr;ﬂ

@umimeiey 2IEDIDHBIGTTIEN,
o

@) =, o . B 15,3310 ; .
2D, gLsmeflsy oEneumsit GansBaIDl & P ngmmm‘fﬁ? Glru i .

7)) @s0smev, BIoney Glha @embh LG5I |ETHD

If'you do dihybrid cross in Pisum sativum on
get 9:3:3:1 ratio in F27?

a) Yes, because they are independently assor!
b) No, they are linked genes.

¢) Yes, because they are situated on different

: aits.
d) No, we can not do experiments on these tWo tra

Speimaiaaimenmi Quipghs ofurer el

(1) Quemi_nBsma - (A) — 2n-2
(i) @yienL wnGeam@rmd - (B) — 2ntl
(iil) meveIBam
(iv) 1peny@amLs

ant height, Wij
‘j“i

the trails of pod

shaptc
genes.

ing o
chromosoSﬂA
el

<O

- (C) = 2n-1-1
- (D) = 2nt3 _—
@) () C(ii) D (i) B (iv) A <) ;@Mcc _(_]il)l)AD(i(‘lI;/)B
@) (i) C (ii) B (iii) A (ivy D m® ( )y € (i
T

Match the following and find the correc
(1) Pentasomy - (A) -

(ii) Double monosomy - (B) g
- (c@-l 2

(i1i) Nullisomy
- %21‘1 +3
A

(iv) Trisomy

a) (i) C (i) D (iii) B (iv)

c) (i) C (ii) B (iii) A%

Bt &58f _(A)_—&

TS SN0 Gl .
Jer

unaleflwmsasei

Wc

b) () B (ii) C (iii) D (iv) A
d) () D (i) C (i) A (iv) B

68 o _marsslul LS. Sl _(B) —&@ easinas Gpml

) A — e.Gasmev
&) A — emaul T
@) A — oE@rmunsBiiuib, B — urdlsbeverd

F) A —

i B — Bacteria
®

¢) A — AegDucterium B — Bacillus
d) A — Agrobacterium B — Lepidopteron

a) A — E.cfb B — Virus
b) A —\%’
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) BB ot > B8 PR |4

o ) ® OUUNGHQD{B@ B { L TY PRGN oy

a) 1IPR 6I6iTLIgy) Dby L i e
. B oo

| I pag » e f

o —6WID - »_afrtana.
mLI,(JJpS\LlG\LInQbsiu G\ml'_mw,[ "
. uuuﬂmgi_aengb TN ’.
BIC1g6i 4y,

OLEITEY DIB6H P
@ IPR - Sl

hanen Guussapemmenus o-.siamAHAILIDI

-6 61 U .
OB m( ) ) ‘

S DI Y : G R
LIU.IGGILI(BQ:’ .

QICIT o Gongy  PoefEpgos w66
the fﬁllowing st IDDmeNtmEH, el QUITZH.
verer has (e full regarding IPR?

Cr property

LITED sy DN g,
alements ig true
rights on hig /1,

BRUBHRIHMIET ry for his own company b n not sell it to others
DOIST ahs g . ’
) S18seur 2) eGsniug Ll Q@meved ]

. @) u rﬂLO e
ghpl;h one of the following is a bio-pesticide? Uy %) Oapsiwn
olla b) Rhizobiurm ?

. Beauveri d) Hev

SDOIGeUTOUDLH 6 5 i Q
: DIIST 61b& et i

a5 : W(g;\?r@@ Fflwmbm @mm\

1) sj.sue'saanm - st (W IATHT 1Tl T Pt @

&) g - BGarenm

F) eumenip - @bHwnelen Gg Q

Which one of the following is an inc%r?
a) Turmeric - Erode .

b) Cardamom - Queen of Q

c) Rubber

- Kerala
d) Banana - Natiopal fruit of India
5@61]@61]6016]_][1’}@]51‘[ QY3 IDEh&ET smomemey CEMUIGE a&Imsl LWEUEHHILEEME?
1) BlevGeulby Win umldl - @) sehan ) . L96080NTHSHsT0
Whif:h one of the fofl 1ghly effective against jaundice?
a) Nilavembu pium poppy c¢) Marijuana d) Phyllanthus

° Ufley — II/ Section—11

4%2=8
gCHeID g@n&a&@é&@ ellenL e s,
m

Answer anWfour 6f the following.

@pm&s&\% i STeUJREIEsT  @weurer  Ww@GBHIIL  Lws
Coumitan eisueumm?

Moléering plants are different from natural medicinal plants. How?
@E@mﬁﬁuﬂ'&x Fal L FGH66H 06WILED LLSSHeNa 6UeH)ed

Draw the diagram showing altitudinal zonation of vegetation

@b Gewsupmpuisd 2_sien LIBHenEuBEmET  61(1DSIB

Write the steps involved in the mechanism of decomposition.

o uifl o_gonss GFweLBLD aopBariwsms oGstnalLflGhe CaupuGHsHis
Differentiate Rhizobium from azolla as bio-fertilizers.

STeurmiseilsdmha
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R — Y
1 "OIVETITA 0 e @rafigmed G6TDTI ey
What is known as germplasm collection?
14, &,n.".tj’uj“eh LIISSImemaT 6110515
Write the uses of coffee
tan~ 111 o de 3%y, |
Afley — [11 / Section o oo eflemm  6169T- 184, &,)l.-'}*;
§GHeID apsIm eI dhEEThHE) e wsefl 2 ml“:
slenLwiefdmeyib :
. ) s . No'lgls CO
Answer any three of the following in which qucsllorf - T
1 , . , o ool & (D55
S. IhE  @essHeENG  Heeoulsicby %

Coumui s gim.
Differentiate heterostyly from herkogamy fsh BETAGSY DT LI 61657 g
16. enusd amgeud Freuy wevirmeler BT B % y
Memas @ . i
e flowers of Pisum gas:
SathUm‘

B0 USUUGSSEID
i Bg e6TeT BLEGLD? Gy,

Explain the role of genes in the formation of purplf: o
7. 9®m 2_uff 2_me0sEeualsd (Glrrr)'rrg@?)@
UWSTUBSHUULTelL LTs Careipd 2-DUS .
: Rioreactor), what
If the upstream process is not done for a fenwl process ( ) Would hapy,
to the product?

18. yugm Gzrems oymiFdulsn o e am@—“ﬂéiﬂ@@%@m UL pwIsi@s.

List out the ethical issues of genomic res@ -
19. 906 G waI nsHH BIEMS5 s0QuIatleh TGS [BLSE!LD?

If crow is absent in an ecosystem, wonld happen?
|
Uiy TV / Seetion -1V~ 2x55))
BPEHETENID el e EhSHE ST HAD.

Answer the following questions.
20. oo, Quent Gaull B selangl memL CupIb SeTUCLMmSSLD  SmEYDT QeI QL
eTea amm&;mﬂu@é\m%@muﬂs&r 2 mECHTH apaISmHS HHb.
(S1060&1)

@Lw @umhgma@%&m dpld, Gusbspmsdimha - esiaumg Goupiuc Ly

EIGTLIEN S sfﬂam'f.@&,.\
A reproductio, vifeyl the involvement of male and female gametes is called apomixis Giv
an outline of this'gthod.

(or)
Explain hochatlon chromosomal aberration is different from crossing over?

21. mleolugl eMWLLS  STyenilaEen SbHULEE W6 . . el
Sone o) &S LU Qeuliy  FHlensveu

(Disbevg) '
Gw@N Gras6 PO FLUS @iasst ' .
prEIgT, . seflourer o _eoir ol o
Qeuli &1 sremiuG@Engl. Lell GeuliuwsL semen eflsurg). e
Topography influences the climate of an area — Discyss.

(or)

Clouds, dusts and humid nights ) _

AR, ghts are warmer than clear dust free dry nights. Discuss the gl
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pad ‘
@H ~ |1 (n_ujmmmfﬂm) /[P

art — 11 (Bio-Zoology)
(0BG g4

+ 35 / Marks : 35)
@iy« 1, DIHEN g5 - 'U?']‘”l.‘ I/ Section — |
5 an@dgﬂ]ut hB(EThd @) Q?Gnuuﬂﬂé;ms\ub
? L mes A ; i .
GO Gsy wﬂm@ VoL aefled Waenb siusaLw sien e CHTEEHO22
! QJ'G’DL-LLTG]')G’] Lb (35- . @
Note : 1. Answer all th . uy THB S11pHIB.
2 Q1 € questions Q
. 100s¢e R )
i ‘h: Most suitable answer from the given four alternatives and w
On code and the corres i
X ond
1. WemmerdGuon@Lmap aeiug ponding answer &

) QFMD 2 &® QUG
e

QHUN B g ID o

CoenmIsHen.
e ST Y deeam o o s o) o

LI i T ’ PDeb6T Wi &eTTl

B TemE memrr Weneybm us 2 L &Hme_emLI o1 2
Plasmotomy means
a) Mononucleated parent divides into two Mononucleated indivm
b) Multinucleated parent divides into two mononucleated indi @ .

¢) Multinucleated parent divides into many mononucleated #ff@iyg duals.
d) Multinucleated parent divides into many multinu

cleatgg
2. &?@&MLQ.I[B@S)Q) QuTpsd silwren elemLemws &:H%
(1) Qan@emmiwim

gx1=8

DD BJHE gimp 2 ek 2 WIAUTEGHTNDIHD

G2-OLW QUG Venapm  Byen@ omnep 2L WIwres

ter individuals

- (A) 10 - 90 BT SN .
(i) dgbg - B) 1 - 8 wrzhse g j
(i) Ipiypicy wEsser - (C) 30 - 80 g,nLa;@‘
(iv) anfumggerd - B - (D) 2 - 5 BEGs
o)) () A (i) B (iii) D (iv) C (i) B (ii) C (ili) D (iv) A
®) (i) C (i) D (iii) A (iv) B #) By D (ii) C (iii) B (iv) A
Match the following and find the correc
(i) Gonorthoea - (A) 10-90 daysg @
(ii) Syphilis - (B) 1-8 months \

(iii) Genital warts - (C) 30-80
iv) Hepatitis - B - (D) 2-5 days .
S)V)(i) il:a(ili;SB (i) D (iv)'o\ b) ()B (i) C (iii) D (iv) A

¢) ()C (i) D (i) A i d) ()D (i) C (i) B (iv) A
3. g mRNA, 2 L& QauelGL AEHABHE W SSET STIL@pWIS (A) -D
| g{g;a‘n (B) eumed U A -b GeréslLGdamen.

s) (A) - ATP e
B _ ADP N -
&) (A) — BensHe0 GaUTEaTens et igenyLTerBuL
®B) - Sl GIFFMRIGEIT - it -
@ (A) — L SIIQENETEOL GeunGaImeng &l amLUTeroGUL
B) - (&N BTN &l aéfgrfh&sm'f :
F) (A) — aange0 58S mmgu'rrsm(?m_. .
B) - 156 H6D GaunGaeng I FRIBEIT

173

¢
L

e ————————

Kindly Send Me Your Study Materials To Us Email ID: pSdaahiéden@inGaradeanner


https://www.padasalai.net/
https://www.padasalai.net/

S TR

; www.TrbTn com .,
www.Padasalai.Net 68 (--lppi"g ml(P(S_lj) as I:ullng,
(A)AEH

\  added
Before coming out of nucleus, in RNA 1S adde
a) A-ATp

B-ADp

A. Methy! guanosine triphosphate

B. adenylate residues

A.diadenylate guanosine diphosphate
B. guanosine residues

d) A.ethyl methane triphosphate @

B. methyl guanosine residues. @ 7
. Lids AT R
4. Qangieoen Cpmimafso ag Gpodpste 27

. )
) IDITEML_L)1 &) UHBAITH &9

©)

8) =B ed (@t Gared) M s caule for death?

Among the non-infectious discascs, which is fll_c ’%nccr

W Heartatack  b)Swoke o) Anthrits ST s
S. a:‘jm’@ﬂlﬁlmlrhmlm agl o_ulil ahileuIne - .

9)) @U&ﬂ{ﬂmﬂ'@ﬁ L) ]J@@J Gmieusd ETQST 7 Q__Ujh‘T agj]fl'l:]QUrT@GTT

al) Qt_llnﬂmw&mﬂsh Uy ughs G ier ufiv ﬂgjﬁlll@Uff@Gﬁ

SOLGIORneniodlen g, L 6UTDDEY ?dgyﬂ(gmn(EUé]u_wﬁﬂD 6163113
@@G“”@Uﬂ@u'_wsna&,mﬂsﬁ, GO Gy todiero

. |
-

arding antibiotics?

)

0163316303191 1y 5 QupiIULL!.
Wluch. One of the following is not try
a) Penicillip is a fungicidal antibi '@

b) Tetracycline is 5 broad s ntibiotics.
C) Strcplomycin 18 broad sp, antibiotics.

d) Chlorotetracyclinc is oim from streplomyces aureofaciens.

6 9 dflw  DNA el QupdsLLWE  QeW  GhS Q,@i”@sbmj;;ug
UWeTU® s g e0min? M
) PCR Ogmgg &) NMR Qzmfsopiuid
D) Ha GCemen Qn@m@mm #) Wenmerown. Gurldled CHTAsHEI L
Which technjqu @ 9 used to amplify the smallest DNA?
a) PCR technidug b) N M R technique
c) TiSSUL@technique d) Plasmaphoresis technique.

1. soupter EomeNienid semipLg

3) G G'N_vrrsmsusnmb - GRS
=19 WiBsmevds@  ailiums

@ UGS Bai
. &S QaTLirFoensy - 268 Ui6aen (peHed sy WrBsaid sUEmT
Sp&@ SHAw - @hgw - weowr - 2 uiIfl - yalulwed UG
Find out the wrong pair
a) Indian desert
b) Trans Himalayan

¢) Western Ghats - Andra Pradesh to Madya Pradesh
d) North — East India

- Indo — Malayan bio-geographical region

- UTGBT eroLdiy

- Gujarat
- Lauhala spiti
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8. JnﬁlEDl (A) : U)ﬂ@ﬂ;ﬂ‘[ K}

H(j)ﬂﬁm&il Qp . " .
. = HILQUITEaD  Lel dBmirend el (LIOTEHR|ID
Qawisbug e, ' bt B

www.TrbTnpsc.com

GILGH afeor, ' i
Q 6?16\)1711@)!1;61] sond\hmbmnm s see| sybaIRm
Q07 %163 Qansitheimen,

o) (A) sam; (R) af

e ) (A afl, (R) paumpl

) (A) wpmnb (R) Sy H00

Assertion (A) : Forests act as oxygen sinks and heart of the planct @
Reason (R) : Forest animals consume lot of oxygen for their respiration. Q
a) (A) Wrong; (R) Correct

b) (A) Correct; (R) Wrong

d) (A) and (R) are Wrong. &0

¢) (A) and (R) are correct

. _ Ufley — 11/ Section =11 <o
JBHMID HIENG eNMbBEHEHLE sl wsd

Answer any four of the following

9. umbdunsaset Geemele Gurgl GHADD (LML (Sgneirmmm g@'ﬂ@lm

@eng mHd ureler @eCUmbHED 66T oim|phAGDMD. &6’ .
zygote is not formed during the conjugation of paramecia, lel it as sexual reproduction

why? O
10. GIFT —u%e9(mpha ZIFT —eow CaumubsHsis.
Differentiate ZIFT from GIFT.

11. pca— -
X X X XY
@)u.lsbur@ :

@hss soulel 2 GAITE0 Fl1 & F2 soepempsensamet

QUEDJULID GUeNI.

Draw the F1 & F2 gencrations flow chart for %

XX© X XY

Colour bind

12. GaugHuiwed uflemmiod BaTLLTL DL @5.
State the theory of chemical evolut

13. GuosHg G urdlefusaa gl o
What is the use of methangbacte ) . N :

14 @s\)ammmmm mgug')gm. W@ o uifiw LSO HSTEDLD BriinG PGS BUDS
HumuiUBGoHSIS. o .
Extinction of a keystong ies led to loss of biodiversity. J ustify.

® Gfley — 11/ Section — III ' . 3%3=9
G wen MEEB@EE deLud oeups elam ae-185E BLLILIONS
&
sl boHA|LD- o _ _
iﬂgﬁs’:\_/fr any lh‘rce of the following In which question No.18 is compulsory.

5 : G elbaaisd BanFoged o pusduier  GuIB! Buwndled  OFsolflHed
15. sy

b erenen?
cuEeoeneo. STJERILD GTETED - . ) )
[:A@E—@.U " cl;ﬁdivision does not take place during the gametes formation of drone bees. Give
ciosis ¢

rcason.
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1 ) . . p g@iiém?

6. ) Bunena aiUGRIE Wi B w)g,gﬂm,&ﬂjmlw

What is known qg ribozyme? What is its sig"iﬁC“nC(:

SYTEBAWN N Mt Lfemmo (lj)ei,d'ﬁUJ?'JﬂJ'““‘b wTgl*

. 9
What is the cvolutionary significance of Archucoptcfyx’;j@&) Q ’
8 969 otenend; S GUUGHEID aufpmpsm sl

17.

Enumerate the controlling measures of noise pollution-

. . ke Sl ;! QLTI -
- 90 B0 Gprunal, g8y sdsmauls WD BT G o, 8
Bugner? oitiuguisiss ellendes. A

_— , , . an nent care for diap
A diabetic patient wants to have a single time treatment e, I
possible? If so explain.

BPESNEmIID slenTEsEnGEE alamLwaibaaD-
Answer the following questions.

2. waflgalie,  ayem BaIumES U HDHE ugmofldss 2 S @Dﬁﬁ@lﬂnm&mﬂs
URSme afsndgs.
(g
DNA  aisiiug, WTLUGUIN(mHET,  SLETTED RNA-ulel@ps!  UGHIND  cuenirée) Qumg

STSILIENS BWMULLE S 3is.
Explain the role of hormones in 1

Jfiey — 1V / Section S\O 2X55,

Mtenance of human male fertility

(or)
DNA is the genetic material, fut#®8volved from RNA. Justify.
21 seESED wigh GurgiFessb™ L Aunhmy BUEID (PMDSEMENE &b,

. (SI0a5)
B0 fimpen sl s LBunumen gnitent UGUUTWHSE! 61UDSIS.

Suggest methods Ef nce of personal and public hygiene.
- \ (or)
Analyse the 1'@5 of two species population.

D
&
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mﬁ@.lﬂ Mempnsit 2019 - 20 / Model question paper 2019 - 20 - (3)
BoDD Byenin iy g

@@ / Higher Sccondary Second Year
_ufiflwed / Biology

Bob end / Tamil and English Version)

LDGwA) Quonss whHuGUsEssT @ 70
e Allowed : 15 minutes +- 3.00 lirs

Maximum Marks : 70
RIS < 1. SiEneng; ﬁ}

. . . , o515
&l G‘3]5"""5513@&19 aflwmes udleundl 2_sitenst  aeLmma EMNUTTSSI
@asnmmsmb.

@B wimp i
A S 1S DAL mimei + 300

AFGULPled @ empulmiiden 2D :@'ﬂ Oumsnitb

2_Lemguinag, Qe ds e o1,
2. oD (DI606vg) BOUY entoulenen 1or G a@@m@d@&%m@ﬂ@m@m
LWSIUGSHS GausmiGlo, L rimg auEnIeuENE Gusidlsy ‘LwisMb s e b.

Check the question paper for faimess of printing. If ther®g any lack of faimess,
inform the Hal Supervisor immediately.

Use Blue (or) Black ink to write and underline a Q to draw diagrams.

structions : [,

2.

&Y : ugd - 1 (e uifl-greugeiwsy), ug® ~ 11 (o T RIBWLIEY) &l sa

sllsnL_& g meflsd sllenL_wirile@eyb.

Note : Candidate should answer Part — I (Bio-Botah@ﬁrt—H (Bio-Zoology) in
Separate answer-books.
ugs — 1 (euifl-sreurefuiso) / I (Bio-Botany)
(LPLQUeHTSET : 3 arks : 35)
Uifley —@ction—I 8x1=8

euliy : 1. SIMEN G 6l 61T e 5 (61 s 3 O: ::400)

2. Qsrpasiur L BTG elen & WEad gy llenLemig CoHTHO5EHE
G GLeir G)ﬂﬂi)l_uj@@&h,&;@j I(F:
Note : 1. Answer all the questio
2. Choose the most w@wer irom the given four alternatives and write the

option code andtﬁ sponding answer
l. Osr_rédwren CoumunGsgnhai SMTEILD

Sl) U6 ogUgmIGSseh &6
&) EDWIE Gloaden QL

B) usv wruEYIGHEs D @pHlemed Smyenlaesi slleneneyssir

) Q6D Sisoeug Wyugmissaien elsnena)ssi
Continuous variation's due to
a) effect of polygenes

b) effect of environment
¢) effect of polygenes and environment
d) effect of one or two genes.

90 dauliyssen Guew GCynCen.".svevnemey  Geusiiener B gy

&0 (B(Burr(%&rr.'.ljlsbam §
S000emD QFligmed, F Fhpallied Tpsen 1LFdssfsn LIgwTL e

&6
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P FHOM
L("m ufj QBHI:
A
. . . 3 :Gﬂﬂ‘ﬂ)“ . .
O QUsH st Gasiteren HHC gl WihT 6T BETEBEHL_gp,
NI, Guat W
1D,
W) WS e Ay sEED-D . gremiuBw:
U NN ol . Lo ® @" L6 mﬂ&ﬁluu@
@) s wipin Ques LT . P L 1 offspri
) Nasil Ganalt hite CYCdm Pringg
S Iofpmd Quesst LFEI® od with wh “’omd

a is cross

When red cyed female Drosophil

g are wilh red €¥¢

a) Females arc with white eye and malcs [low €Y
g arc W'l” yc

b) Males are with red eyc and females ¢

. e 'C
¢) Both males and females are with 164 €Y

et . )
d) Both males and females are with white €Y¢ 5‘ HEMVBIPTE  LOTDBEON 57

FLDEN
3. Fi shssulsy sremiuBd lpsDL(Bsi 6l
3l wyyl Gurpfluflwed psoLD :
(psOLd

&) yGyrLGLmIenns @aaelsl L%
@) gnewLOULL &G wihpd WL \

F) SiemLiuL @CynGuorBsid L

How can we reverse the sterility QfF b) Prot oplasmic fusion

a; ?c:inenz i?gmf.:enng d) Induced chromosomal aberration,

¢) Induced Mutation : ) A .
o ol o crialanis Lo gD UpD LLSLEEDS! S 4 Voba
Lo - @@méasUUL_(BWW@-

Uf&0s0ss0UlLE. SiH B2 ¥
o) A — SsnenwbLE =g — Gaarrsn'
o) A = @gsﬂu;u_:w B%eﬂsususm Flipadlerd

/A - 915@ efaGLmfum, B — ymiLridlerd SHTEILLITEIIT

#) A — jerouny, B Bl GuBsnGeTT eEEUTEr

In biosensors G rescent protein is used which is isolated from A and spliced with, |
a) A — Chlafh B - E.coli
b) A - B — Bacillus subtilis
c)A— mictoﬁa; B — Arabidopsis thaliana
d)A f Magus; B — Accacia melanoxylon
5. & 1ewpemn Curmsd Ffluren ellmLamws ®Tedis

D (ATEUMLD SHTEUTLD - (A) - wyld@Gsoflwim

(i el 10SHEGD HTeUTPSHTEUTID - (B) - dsrbiguir
0@@@ wps UssE0 Brampstagd - (C) - manl fsveor
avwy

LT sl Camaru Brampgsrag - (D) - Mo . Awr

=) (1) B (i) D (iii) A (iv) C &) (i) B (ii) C (iii) D (iv) A
®) (i) C (i) D (iii) A (iv) B #) () D (i) C (iii) B (iv) A
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Match the following ang find the
(i) Free floating hydrophytc - (A) Utricularia
(i) Rooted floating hydrophytc

correct answer

= (B) Pistia
(ii1) Submerged ﬂoating hydrophyle - (C) Hydrilla
(iv) Rooted — submerged hydrophyte - (D) Nymphaea
a) () B (i) D (i) A (iv) C b) () B (i) C (iii) D (i @
¢) ) C (i) D (i) A (iv) B d) () D (ii) C (iii)
. SDPBESILeubmish 61H

W EBNITU Bo Ay )
S) &1 WwHDID e U (penmusoen?

SueTID  Guiggssh &0
) BMUST euflHHLLb
@) o Wflors &b
F) ellsomi@seien 616531 6301 & 60 B ML DB &5 560 0
Which one of the following is not a carbon sequestration 0

a) Forest conservation and soil conservation e so

b) Carbon foot print

c) Biochar \

d) Increasing the number of animals. O

- @ euflenss Caielan @snmun®

S) GPBey TYLTEHEEMTE GHUGL Loy (Baasmsnﬂ Ufssiu Buevallsbensv.

&) UHW  DJUGRISIHSWID QSBT6RIL SHTeuhisst WEITES (LPYUTSHBTE0, DIMEUBST EILeD
OTHDSADEG GHU Shiseme g;&mmm&;g%ﬁmng@m) BENEVSSEEMD GHENBEUTSS
Q@ remi(BeiTenen.

@) Pl &T60 DieTellsh 1DTLIGDISIENELIL] 6 DiEnLsudsvemnsy

F) @bhHd STeugnisst Coumiul L fng,eh%uéi OEresigmhob&emer.

The disadvantage of pureline selectigmsi o . o
a) It is difficult to distinguish be hereditary variation from environmental variation.
(1°8C)

b) New genotypes are never crez * ) they are less stable to environmental fluctuations.

¢) The genotype is unchanged
d) The plants show more Jet€02yg

B S AT .., sm waHHEEEG SHFCW ljlgrgrraﬂ. o EMOITEH D _e6itengl.
. GadmI .(AzR,) ngﬁiﬁ &&Lﬁl@fbiﬁ aefdsd QFforend LG ©_exia).
ST ERILD ; | 4

o) (A) af; (R)
. R - .
> (:) &%G?JH?I’{)( : 160 (R) — A-sow eflendsailsismso
o th) rﬂ', ) — A-snw eleNSEGEDE : ;
A (A).& EA) ' "sthc staple food form.ost-ofthepwple in the world.
g:iesztrlxo(r;l) : It.i&sily digestible and calorie rich food.

a) (A) correct; (R) wrong

- (R) correct .
2; Eﬁ; ;r;)zf{- ((R)) correct; but (R) does not explain (A)

d) (A) correct; (R) correct; (R) explains (A)
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-1l

CHeDID BeIE efsandsmEhbG
Answer any four of the fo[lowmg p
9 @HGHULILGHma eienghgh LTSHBE @]

20 O

Draw this diagram and label the parts. Q
10. smembSss semTe sl6ien? &
What are embryoids? 4 } CapLBHSIE
1. s@an ppoolunobs difs GEBT
Differentiate species ecology from commu i %Y
12. uss ellwssrd allgamw elpg
White ten percent law
13. sreugll ussiyseisn By &1 HETM
How to do test for homozygosity 0 ‘ p]ants"

14. Hendlulenr LomSSIeU LIWSTSEST
Write the medicinal uses of Hol

é

gﬂu.l ereiiuml CETHEMET G Cousi@n

HI/Sectlon 11 3x3=9
gCaD wpeim sﬁlsurrraazs oL werl ssupe eflem aai-186@ SLLMuLNES

alenL Wi aeyLD.
Answer any three of th

15. &L @Govsdh SHEQEIe SUTmI 1DEJHSHS @GP BIWPEnE?
How does polIen tube grow through a solid style?
L OpLenl enUFID FMQeud STUIHMS GLDLH
w Qe OHTLT UL eudJULHMS 6UMTH
or heterozygous tall x homozygous dwarf Pisum sativum plants.
17. mr6iE SmINGILHL b6 GUEEHDEAS LD sIys
Draw thg diaZsam showing four strand double cross over
18. Gyeprila siemBLIBlydeiCuabaEnse CLWABD wpep wig?
90 Mmﬂi@ HOHE. T §
at IS%he naming procedure for restriction endonuclease? Give an example
19. G gafulsd, 2-10 ellwsastd WL ECW ,&;nsngrmesmﬂm @ﬂﬂgggmﬁmg

ng in which question No. 18 is compulsory.

16. (Bsumjuu_ a”rr

GoHsLULESDE. gei? allsnd@s.
.§ the total sunlight, only 2-10% of the solar energy is used by green plants f
otosynthesis. Explain why? _

fley — IV / Section— IV 9571l

SPSH1EID ellambsense el wsibsab
Answer the following questions.
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e BTGB LSTILIBSDST L tguisd @
09U CurgSuusedsy (e (D5ba0z)

QUL VTR : :
Enumerate the clyy - 00 DO B s, sl

acleristie
1stic featureg ol'nncmnphilmls plants,

Plasmid is - (or)
e @@1 (i?;;; veetor in pengtic engineering. Discuss,

W B0 Nenevmnge) @\Pwedsd Bmer Lkibmen aland:
yslufwsy anir (‘Z}'Ebmﬂal)

SobeuevemIn! ] : . ; 2
&UUQQUJ@%{) a{g).-ll SDLOLIL 61t G\ fisnay Gusmr D_HA|lD 0 i wwuaﬂmnuﬁr

Explain the ro| szn. Womasememuyib Wdduwg e gz stup .
Xp 1€ role of wind a5 5 vital ccological factor.

Do yo i . ite 1
you bchc'trc that geographic information system will con vironment? If so write its
methods and Importance,

ugd - 11 (2 wifl-sNevrisaled) / Part — I zbio-Zoology)

(PICUsssT : 35 /mﬁn.gm

_ | 9fey — 1/ Secti 8x1=8
eloy : 1. SDFSE oMb BEEE@D el Iy
2. OsT@ss0IUL L BIsIE sflenL el b ghusLw eisLemug BaibE5655!
GBI GLsr sllenLuflsnemu G SIIDGIS.
Note : 1|

- Answer all the questions
2. Choose the most suitable g)ﬁom the given four alternatives and write the
option code and the corr%ing answer

Losuﬂg,frtisefl P LII'I.G\') mﬂs\)m@@mﬂgmﬂm STEMUUGLD SHamB almas
) B BHAWSE D) SIS SGHAWISE

B) vutsisma Wy & % ) @emd o uifl seell @eIOUmBSD

Human beings are uni mals, the type of syngamy in human beings is
a) autogamy . b) amy c) hologamy d) paedogamy

wefliseflsd men_Gu %LIQU@&@ Bapayseien sfwmer euflens
&é&u%

) RenFGssd 1D ~— SHOYBIH —p BHBEHTEND —> psuBaE,
&MmBCHTeN DOYss CHraimsy —» (o2 WL T

) @m&@@:e‘sm—» eneymigHe — apsufd @ BMHBCHTENID ——p
5@&5(3&@ 2_milsst Baremsd — waGugy.

8) QenfOged 2 HEUTEHD —> HHA|DIH60 —>BGECHTEID —>Nenaymssd
WubEE BHSCHTEND —MosUBLY —>2_miiyss Caxraimsd

F) Bafbssd o marss— HHaDmIHH— deDIHE—> 2 mliLssir Camaimsd
&HEBCHMEMD— cpauBd@ SHmeH8snen— walGuy
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‘ ing is : organogencs;
The right order of reproductijve events in human being qstrulation—> genesig
a) Gametogenesis—, fertilization—» blastocy®

. __» organogenes;
l = parturition blaserCYSt ganogenesig
) Gametogenes; truction
§$15— Cleavage—» 35 »oastrulati
= parturition leavage oy tion

¢) Gametogenesis —fertilization —»blastocyst

— Darturition i
4 G ——>organogencesis gt —"
amctogenesis —pfertilization—+cled

— gastrulation —parturition
BipoumausTeuhmis ety amiemu el DD
o) HPV — s@uydulsn apooin appso HOP
) UDBWDN LWL yeneng; HlTHHN
®) @ HOwNGHmHE HeMT1HEN
R) UOmLET BenlGumbesid ncer?
Which one of the following is not true regard_i ng en@

a) Primary prevention begins with HPV vaccinall

b) Avoiding tobacco usage

c) Preventing early marriage \

d) Practicing polygamy .
4. dpaeTLeupep Ouimsd sfwurar el e

' : eGwW
(l) erﬂl.l_lust@[b'&_', p_uj]@snsn g@ﬂu ) = (A) Fmevd Gum . . '
- (B) anfiumipigerd sbULY LHBSHI

organogenesis lastocyst

. GUGUTSH  sums
ety LB >~ ? BT

(i) Gasmevsoril L SEOY Wmba . .

(i) m&sdm®s Q - (C) stLoow 56Ul LGB

(iv) @rswiLiD Smeupsp 5@ bgs - (D) DPT s6uy 1005

o) (i) C (ii) A (iii) D (iv) B &) () A D () Bv) €

®) (i) D (ii) B (iii) A (iv) F) (i) B (i) D (iii) C (iv) D

Match the following and find the correct answer

(i) — Live attenuated®ggter - (A) Salk’s polio vaccine

(i1) Killed vaccine (B) Hepatitis vaccine

(iii) Toxoids o (C) Measles vaccine

(iv) Second gene (D) DPT vaccine

a) (i) C (i)l b) () A (i) D (iii)) B (iv) C

c) (i) D &ii) B (i) A (iv) C d) (i)B (i) A (iii) C (iv) D
5.  @eummen Wwd Semi(HLilg

Sl) 5L 19 - eun&BLIEBTSEED

) - gna@rrenodled GafaldGw
y - elwGstErenigs WeFETgyTIf
& L - wlendl
IM]

F t the incorrect pair

a) Cheese - Lactococcus

b) Curd - Saccharomyces cerevisiae
c) Idli - Leuconostoc mesenteroids
d) Bread - Yeast
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f .' ns“u' - '
Qﬁ:;f:\n. (%] @E\‘J?i)@nn]] @Uﬁ“m lmm?@
ol ,.1.)ﬂalﬂ:f>’ﬂﬁﬂll|li.)_. B anihen (ii)
o) () - 26, (i) — 99

OB aid)edirme o, A amfsd (1) oniGem

NG Onfleviamensmipn Gmresin_ensl.

@ ) - 20, (i) - 3 a4 () - 22, (i) - 29

. (iy - 20, (i) - 31
Insulin molecule ig "
Chain has (i) aming nzﬂﬁ;ur 'Wo polypeptide chains. The chain A has (i) amino acids and B
a) (1) 26 ii B
C; 8 5 83 3(7) b2 ()29

_ d) (1) 20 (ii) 31

Cagenalled o _giey Gu

Mt Guemavrmis & et : b G
i _ LI agemmeoud aimha elsumieer, LBl GUImEL.
) @b el oy AN winenen g ”% e

a) @b A OHDID Bbour wirenen 0
) WLBzre9 TWIDLGASEN wipih G gsd SIDIDL |22 sl &
) oIBmnemiy LMD ommnb LDENGOLITIDL| o

Periya.r wilgl life sanctuary in Kerala is famous for
a) Indian Tiger and Asiatic clephant

b) Indian lion and Indian elephant

c) Spiny ant cater and scaly ant cater -\

d) Anaconda snake and python

@@ﬁugngﬂah e LG STemEPGBBILET W \

B) SHHTN Lig@enm Q) WIBEY LTINS QIDABET At #)

61LD. 61610, F6um LB g5 661

Who is honoured as Forest man of india?
a) Sunderlal Bahuguna Q b) Jadav payeng

c) Amrinder Singh ( ) ) M.SSwaminathan
' . Uiflsy — mction—ll 4%2=8
gBmaud BIelE alenndasend W& s e .
Answer any four of the follow:
SUEHT 08V (B G ENeMIDSHSBTam k) T ITRVGES
Enumerate the causes for fi ity.
RNA 2 &b ey ?

What is known as RI;JAW ?
(DUDEMDWITENT QLIS W&:eﬁ@fu wopdadmbs QUG aws somEABD  (pemsw

CoupuBHHIS. Q

Differentiate relag ing from absolute dating.

'OT8) BeveiT mgy

Define ‘bio?%

Buuwmadg oluuTeleen UGgsalsd sreiuBh alomigamsnt ulpuad@s
List out the fauna of Trans Himalayan region

o uiflw o _pUGUEHSHD aand GUUILLIUGS wrg?
Which is referred to as biomagnification?
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21.
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i .,

Ifley — 111/ Section e etewr-185@ BLLMWIDT,

IBHoID apeiy) elenndmenib@ efenL el oieuplisd

SenLwieldsmeyib
. . . is com ulsory.
Answer any three of the following in which question No.18 is compulsory
OB Ceribuyeds LLD euenhg Unsmimemend GH-
Draw the diagram of a lc and label the parts.

agre gemmule and labe p o
olbam Oed el Gasedge L@ Qo oot eI - @

Explain the penetration mechanism of a sperm into an €gg.
uflemmoafweded, ety o _uliflssier LUHEG e’ Q
What is the role of connecting links in evolution? 0

o S WpRub?

ehonsSnaiainis Guipmam CanuGHHid /S,
Differentiate oligopotency from unipotency. \
eflg WJuUGNISH L SHT (peold WS UTEUMB IS SN Tng 516
HGP is useful in tracing human history. How? b

Wifley — IV / Sectio —0 2x;
Spssnemid eleamabseEns@ allenLwellssan A
Answer the following questions. ¢ b gt
#8stemeouisd moLOUDD goisald  Colgui®  GSTLRIGSH DD i
Fwesd(pemmen alleNsEs.

(S16060

urevgmimbs umybuflw  GErussT  GU(BL, h euismenCw uTeams. Bgoa
o _SIeSHIIL ST alleNdES 5.

Explain gene switch on and off mech&@icoli
)

Sex linked inheritable diseases mostl@cts men. Explain it with an example.
a6y @ GEIW Sieve, Semigy” s wpw o uiflamed SrTéeGausHE o sal U
elen&@H®. i’ ‘

(Sis060g1)

wexT GeTenSIle LIewIL|Hems 55
AIDS is not a disease but {{ fachitates the attack by other organisms. Explain why?

\ (or)
Explain the prope 0 osphere.

. \
DN
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19 - y
Busdrensy i 20 / Model question paper 2019 - 20 - (4)

0 i@ / Higher Secondary Second Year
. o_uiflwsd / Biolog
(BOD ohmbd e -
o> S+ 15 U s :groﬂwe;w;ﬂn i /Tamil and English Version)
fime Allowed : 15 minutes + 3,g hrs

o ] . 0

oPDTEST 1. eyemens . : imum Marks : 7

O& ﬁl.ng)@. el man  sfwnm uBourd)  o_sisngm g afuTToHHb
meTT6TIeyLD. 2FHULLAeTs0  Genmulmindsi a@;

Guorgs wHUGUsISsT @ 70

Gt ETes LIUTslLD

2_Lemuing g O Mol mayb,
5 , . )
BEOLD  (Bis060)) BGUY ewulemer Wl GG m‘;\ﬁg 39 & 5T BaSDEID

LWeTIUBSHS CausmiGh. L rimg ouDTEUBME CUsidlote LLALGHEHMD.

Instructions : 1, Check the question paper for faimess of printipg. “Whthere is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and und iQi pencil to draw diagrams.
erly : ugd - 1 (2_uif-sreugellush), uga — fl-elleomdliish) HedlgHafl

allenL G & merfls0 sllenLwiefldaeyid.
Note : Candidate should answer Part — I (Bi@y) & Part —1II (Bio-Zoology) in

separate answer-books.

ugd — 1 (Ldﬁ-gjrr&umi]@ Part = I (Bio-Botany)

(o AIQLIew : / Marks : 35)
&y % I/ Section—1 ‘ 8x1=8
GolY : 1. soasgs alamss & ellenLWsrildmeh

2. QanBaslul L BreE Laafsh lEah ghysLw elsLsws CHTHOSBEHE

GO BLer swsmmm BFTdal apas.
Note : 1. Answer all the NS

2. Choose thesm le answer from the given four alternatives and write the

option @eﬁonesponding answer :
L o e Gailledh Slarsgsd 2 6en 2 Gands o L smelsd o sien &CynBonBamAsi

Benso (A) wMmID w o Lapels o sien GEyTBLIGsMAsT Haeo B,

o) (&) — mBE w 2) (A) - @n) B - (@
@ A - (@n)§ 3.?211) F A - () B - (n)
In a male EW\ f;yte, the chromosomal number of generative nucleus is (A) and tube nucleus
is (B)
a)(A)-(n) (B)-(2n) b) (A)-(2n) (B)-(n)
¢)(A)-(2n) (B)-(2n) d)(A)-(m) (B)-(n)
185
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; i1 CFWISOUNBage
(3mrwm61ﬂ6m 20
o . . o urp @GITEeT Uy
"nbm'.@m“""m'(lmlm smt @ sorifpede '
atlumpy - e dsaunp? T (LD

D) @holenae) @Bi@ipn@ambmsTH

e : p S el . .
Ab) GWed el Gent Hensouled al?{lzﬁ GM’@ b e HHOBIE DT ey
2| . ‘

@1 gtusm_upb Gurg eI sp memUGLD
P6NGsuTm oisLASEOEID B @(BUHGIDLQL_‘W T cy)ﬁ\)lb @@IUI'_L

Dep6IT
B) G Ln Busd I-60 gHHMIO @By GLon @D
Sisbedeimames (fipam. ST £enFe) @ng@mn@gw FCBom s

. 160 95D

witb DEBBEBET g

@@InBLTGrmp;,

) @&med uginls ol .Gus
@By igl_meir  LIMNdSeImen. 4 chromoso aour during cell

Which one of the following is incorrect regardin

division? , f adbormlogous chromosome,
2) The alleles of a genotype arc found in the some I0CUS " AR =0 copies of
b) In the S phase of meiotic interphase each chromosome@

each allele, one on cach chromatid.
¢) The homologus chromosomes segregate In

alleles. @tid of homologous chromosomes ta

d) In anaphase II of meiosis, separation of sister

metaphasc Wethereby separating two differen

place. . R

I BmIei 611 ; QOILMD B sitélang OMHDL Lr@si?
o b o 6 & T dife oubed W) HEe Bds
Which one of the following is a secondgm bo.lit.e? .
a) Ethanol b) Acetic acid ) Citric acid

bl ea . 2
SDaUmeusIeUBEDIeT 61hS QT &mu_mgn@:@ﬂ. ' ] : :
@g) mqj]bs&raﬁlrﬂsrbl,sﬁr - AeGsreT Si.. mederd - UBmCETUI eIHTOGHSI

Fwed - e eT&ITOMmbE!

o) Galsnadle - BaHHITHBOE
@) 1pegréerisn - 19gdLmedlar s, T - @HWHBDG Wb
#) Gamgel - GaUFABL TN sued  [Hleuryemll

Which one of the followi 'u ect set?
aninalis — Anti carcinogen
thus

a) Vincristine — CinchOnd 0
seus - Antimalarial

uria — Cardiac tonic

d) Toxic pigments

b) Capsacin — cathafa
c) Digoxin — Digl
d) Codeine — Ca
gapml (A) :
smyemd (R &

QB Temig (B
o) A) &f; R) sap

2 (&) whpe B BroiGto of; eamed R) awiug A-uwis sfsnésons
SiEMLOWEIELENED

@) (A) wipe R) ByeiGéo ol R) asiug ~ Auls slenssiores 0SS
#) (A) wppd (R) SresiGeo sy

annum — Analgesic

medlbeflwrealsd @meG Bir sILOUTIEID Galljtes BHHGWD
SR olgulsd 2 afion fuler GauliLsmevsnws oGS BT

1C
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QZ;CS'(':"I“(';{()A‘\.)TIIIIJ}’DOIimniotic layer of water i always cold
2) (A) Corrcc.t- water holds (he lemperature of soj] l fe
» (R) wrong soil at the bottom of pond
b) Both (A) and . i
¢) Both A; o ((I[:; Ale correet; but (R) is not the correot explanation of (A)

Ate correct; (R) is the correct explanati
’ at f

d) Both (A) and (R) are wrong, Planaiion of (4)

6. THSTUISNT Balameir Ly , .
o) GuTwramTelLr %)l_:grsr:;eﬁm CUTIm o)s Geduy e Geugadsimsn? @

aGon P Gumbd @) uraefw auramTel ) aeis@uab%
Which plant pods ex

plodes with a loud noise like cracker? Q
AR : : er’
7 )ag-oerhaawa b) Cleome ¢) Bauhinia vahlii d) Ecatijum elatrium
. PUGSUBLIST 61b5 Qem Hemevd)] : @l g
Bou 1P Uybemr &G 2_ewl6)|Fagmidlod.
B) UB&BET — 6160 &6 —p UMDL|— U HeE oo 6’16
Q) SUSVIDTD _y, UMEHEUSET P EUEHTI(BH BT ~— | henF&E6iT
) sneur Wsemsums —>elloonii@ O BmauBsT —> BB HQT
F) STEUIHIGENT > (PWeLE6EIT —> Bl —> LHES

Which one of the following food chain refers inverted pyramid?
a) Grasses —» Rats —»Snake —»Hawk r\
b) Banyan tree—» Birds —»Beetles— Fungi

c) Phytoplanktons— Zooplanktons —» Fishes—> snako
d) Plants—»Rabbits—» Fox—» Hawk j N\

{
10

8. dpaumsueneubmisit 61hs @eiim 2 ulfl Gsusl 5@@*&(,""
o) demenfidiguir Afuibd &) Bilwib (' ‘
B) S(Gsor Geugr ) EDIITHHIDp S
Which one of the following is a livefence of fo@
a) Gliricidia sepium b) Nerium ( ‘c) Aloe vera d) Chrysanthemum'
“ !

iflay — TPSecton 11 P
geBEID BHIEIE CIMTHEEEHSE aikmu@é}mm .

Answer any four of the following . \ ' .
9. sy LT OUBGESHDE 6115 : 605 Qewbms sompa OUESSD BeovE?

o 105 elLb@ SNJemD @égr@&_ op. o _ '

Which method of artificial ve;«_:ta‘qe reproduction is good in plants? Give reason for Your

answer. \

0. @bs LMD APIHH UL

Redraw the diagram and label the parts

2 Celled proembryo
QL gr@amblenus gﬁnsélwu;wésgﬁﬁ\ﬂ@[ii@ild CaupLGHHIB
Differentiate tetrasomy from tetrapio y

1,
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- ‘ R
VO 631 o163 60 L1 s 215 ApEnm  1DgLIGEIDTHPLD 616FITEY ;r
What is known as clectroporation of gene transfer g
» . K U6‘)
IDIUGDI  emmwnEmmed  apiielsr  ApolP

@ ! Femen?
. . . . g T ’ﬂ')ﬂl_"—' G'_) . .
JwuiuGaleipent. @60 61GHBHMS o_ulfl U | tios of organisms, What is the ,

i : : e va
By using gene manipulation research we produce Vi
b‘ M 2t . ) :
1osafety in it? S R & ity

\ . . : 1611
LsLGeumm @160 L D6 L 6VIIHEITED 2 6l

aems  2_ulflssi 2

@gj]ﬂm_sﬁlsi) Ffwmesr 2 gy

OBTBHSBUILLIQHHTEID, 61D m“ﬂg)@ma" . s
giIfledulsy wellgmensr eeudiml, SBHHHTE sryemp@HL f is not mentioneq
In different food chains of different ccosystem the placome ur0 wer. &
give placement in a suitable food chain and give reason for

3%3=9

ey — 1T/ Section — 111

alenLwefl  Sieumsled -186@ SLLMWILONES

g8z pei eleNTd:HEHHES
alemLweil&bse)|Lb. . -
Answer any three of the following in which questi

8 is compulsory.

LB (oD 6ITLSI seoliuilflemnw o _(HEUTHS @@@@w &y, Uﬂf“@;i ﬁ(;z)iufa
@bHE Fapes b gnuis Qarsitdmmwur? Sl s o el LS &

QBETHHHD. . -
Grafting is a method of production of hybrid
You agree this statement? Give logic reason

@luLsHs0 GGyreLrGsmd am&mﬂé&%ﬁ

GOILEUWLHIS Q‘%

feﬂ“ OBT(HasUUL BTNl A SemiBulgd

-«

This is a type of chromosomal 'm"h%grmality. Find it out, and give a note on it_.

gnyL_1gBL D srsilsu; NG TaurEIEmeT STBSHSWINmhE LUTSHISTESDSHI?

How does Rhy#i otect the plant against forest fire? - ;

61l gonIE 6111601 (hil Gub QessiLGaugenTed, UDmsd @pliy HlsSDS!- greueurl:

In animalsNQs ergy occurs due to evoporation of heat. How? o

g Bameir %Wﬁb weilsel G gouGL GhJY HIID WenNBLPS aNeneT 6 HeN6T

Write the directand indirect effects of ozone depletion on man. :

ey — IV / Section — 1V 2x5=10

LipioTeapld lmSEEdEE elloLweidsab

Answer the following questions. w
oL 99

QW PG HENID OJUFDI 1oHODTH PrIE SHRTEMLD wyugpelsr QawsoLm
ung[bLjfﬂLlJﬁ')@DQ} ﬁlﬂﬁﬂt'{:@a;, ;
(16060
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mgu@ OIDDSED G gt s Go WeHLIBID idb@yrumdiafiuigfein LBSlmet
el enBGHB.

Explain the pattern of inheritance of a dominant gene suppressed by another one dominant
gene.

(or)
E\plam the role of Agrobacterium as a vector in gene transfer.
. &LLS (BQ—)WGDQI, Gt Qllﬂﬂf)&g_') GEHG)IL_&‘H @L]L']]L_@ IlL) SN ULQ’)@W 2_55)@

alenHEHS. Q
(21606051)
poiwel QuIGLseist opeer wHmph ord ubml 6aEIs.
J:&

Compare mass selection with pure line selection with the help of a schem gram.
(or)
Write about the king and queen of spices. o
ugd — II (e_ulfi-efeomadwsv) / Part—II (Bio-
(wAIGuesisst : 35 / Marks : 35) &
Ufley — ¥/ Section—1 8x1=8
Ul : 1. SimaiHE alambsensGh almLweibaab \

2. QETR&SHULL Bieng el sl sab q alenLamwsd CaTHOSBHS!
GHUILGLe el ulmeanyd Carssl 611p

Pk
.

Note : Answer all the questions
2. Choose the most suitable answer fromm four alternatives and write the
option code and the corresponding anfwery
&

. enamlgraisy, QLML (Bob&mer BambnialdELD @&Bsﬁ
) up 2iBd@ LG ~ &) U whmId i ABSHSSHS

*K\ F) Up LHon 66 HGEESsT

b) ectoderm and endoderm layers

@) up, BE LWHDID B HBESS
In Hydra, the buds develop from

a) ectoderm layer only
¢) ectoderm, mesoderm and endode d) ectoderm and mesoderm layers

. Epeumeuemeupmiel ahS GO AmsiD SEUUSWl L Flubs euréduin?

o) @Fl, SV (Surﬂesa.%ml' QU(LPEL LIS
%L@féﬁ@ @B SIENLDHSEIGTENSI.

o) @z, Hpmiueny Lo .
@) smlamu e 0 60 UGHUIsT apeoons sevald sTsvaruigist Snsang.
#) smusouuler seufld DIBBEGST 2_6i6re. |

Which one of the foll8winBs an incorrect statement regarding uterus?

a) It is an inverted pear‘&ed structure. f

b) It lies between urinary bladder and rectum

¢) The uterus opens into the vagina through fundus.

d) The wall of uterus has three layers.

[ ]
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Lgwrs61Ie0 QaunuOUBl  HHHHL .

;‘g?@;f\) b BhBGIpe) G e16IUBI e o Y
smemb (R) : Bg HebQoe sLbpiuGamsp HOHEH S |
&(H6) 1 G EN6VUL|ID SHBHBDDI- w A —" R) #f

=) (A) sf; (R) geoum N .
— (A)-ew
@ (A) afl suemsd (R), A-sow siendamefsosmed ) .(A) gfl (R) — ( Ao gy,
Assertion (A) : Tubectomy is the surgical sterilisation in women. -
Reason (R) : It blocks the transport of the gametes and prevents cOncepLgn.
a) (A) Correct; (R) Wrong b) (A) Wrong; (R) f‘:t
d) (A) Corre @ plains (A)

c) (A) Correct; but (R) does not explain (A) G GunGani

CEBTERYBHHSTE, DIH6T LT eeian? & o .
@) und) ST, g Qieting ) @LILIT 4637

S| ST &) Guen
What is the sex of Drosophila, which contains 12 autosow@-’» X’ Chromosomes?
d) Super male.

a) Male b) Female c) Gynandromorpg
Bb o Leled WBC - ulemmed @ TEuyTes BHs  QEIIILGS el

GrrisseL &miy?

o) @eLTOuymer B 2 L6edsd o [usE CFugUiILBaISIEIME @al em LFWBmEsH
swrfliy GHE- “\

o) BF 9n ams WHSWTe CETUSSML

@) Bs on Bwsiy CETUISGSML ST

F) B& @n Cspms (pmpulsd GuDL : MiGSmL ST

¢ produced by WBCs in our body?

What type of immunity, when interfero
a) Interferons are not produced in our@ it is a synthetic drug

b) It is a type of passive immunity
c) It is a natural immunity

d) It is an artificial acquired
eroGurt o _musBuier Gurg
CsuIADE. SiHe GLB [/

WGideon gfi@dusidad gn Ugs LIBHOS o fush
Hssgister GiuE (B). i

o) A — srajng(B;rm_rrab “ B - eurd guITel elemei

&) A — Byl Bym % B —Fab gisiasei

@) (A) — ysour Lgsdea B-PCR giaimsit

#) A — GLsi iLnLnédlen B —Cry edeiisen (dleny ofsitseir) b
hic

During sporulai cillus thuringiensis produces a crystal protein called (A) W

encoded by (B

a) A — entesQ B — Lac operon genes
b) A~ ncurohh; B - Fab genes
c) A — Alpha toxin; B —PCR genes | ' i1 AT

d) A — Delta endotoxin; B~ Cry genes
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s pAAaTand gy

10,

11,

&) 80 SRPON WL sdBs gl
1: ! | ‘ LOOhas0 »_gien ‘o)[uj)(ql;],gjl @lll[ill'ﬂlll I0fimib o uilflus
STV SWMNE - @GPy,

) YWl ©_aite . ik 3
H) S NS SdHEH o uTfeiimend @uuindun simiapeun et HevhHoHI MITALHEY
= W un . 3 -

S) yhus Gupiw - Csugdur sy @ypsmavds GO

3 SUEDN oL a0dH N " . .
SuS \ ST 0bR s ugHenwi @i, oufso 2 ulflsmimsi Guibiiis
SIS BHA UTIpH60.

Ecosphere means

a) all the physical and biological environment of an ecosystem. Q
c@nent.

b) all the biological organisms of the carth which interact with the physi
¢) The physio — chemical environment of the carth.

d) Smallest part of an ecosystem, in which organisms interact with physi nvironment.
uwsdu  Gosaw  gliw  usHssld o ulflu  UsumEBNSBHDL S5
STemUUBIDH. BFDGH SMyemILD.

&

o) BuugHsaiecd o ulflemsals eumidlang  WIHBSHBIH wresr  Gauliubienso
Bevaysng!.

) GUUICL el Geusflulsd yuisd o (HeuTeugleuensv.

@) CarenLsd sTewsHHe0 Hevayd e SiFse Ceuliublensd g,rrsugra‘na,@'é,@ FTHBLOTSD
2 _sileNgl.

F) BeRiL usEUTWS, @alFCaTbmad@ UWeieen GITET G,

Rich biodiversity is seen near equator. The reason is

a) most suitable temperature for metabolism of livig(th '

b) cyclone does not occur periodically.

c) extreme temperature (40°c) during the summ ourable for plants.
d) lengthy photoperiodism is useful for photos%is.

Lifley tion — II Bseog
gBoHaID BIHES oo EnHE el 6YLD. ,
Answer any four of the following. v
eflenigmeticd  HEPLGLDID &'@37% WLGHEESMS g1 B HAplyaues  uTede

HalOLHHS (WD 6T DI i i :
Why do we call parthenogenesis & ecial type of sexual reproduction in animals?

) Gl apsiDTD BOMGIGHEDM QSIS
Write the tertiary stage s syphilis. | .
Bmpse GETLIEHEDS — o6l Be0eme0 eei?

There are no tRNAs fags dons why? _ =R
anbento  Gpmuilenmed utgasiul Getengl. @bs GoTug Qahy

m 10 Wl @w%? o 61 lMLEGS ST SHhHe.

BeoeogT leegl GoLL : f sz s
A IOchar old child is suffering from chicken pox. Is this infection good or bad? Give reason

for your answer.

Aevauena LTdHleflul :
Why do we call some strains of b

Hfisenan B> ‘@ ud’ el gal DiapdEGDTD?
acteria as ‘super bug’?
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: . « Geuglu p_JrIBESG Qg
GnlPe0  Bhepn & & "‘lﬂmlmmll V63t ")H}'@“g"u!ﬂ [[,Lﬂﬁ)lﬂ'ﬁ“ g,‘_L
ImmIe @mdai. aeenmm? X | fertilizers. How?
Ecosan toilets are an excellent substitute for chemica

3%3xg

tion — I .
fley — ]”/SC(;;)]]E][;%DI it 8@ HLLTLIONS

FBHEDID apsiml eflenndmendbg el 2

alenLsildHsa|b. . Dulsory.
Answer any three of the following in which question No.@'
Rh+ ypliueiipasien Qeuuienfle Qursiten@ma 610pdl 0

Write the Wiener hypothesis for Rh+ phenotype. g o S Geen §
S'— 3 HeaGprbdu Huybels sifob GAaNS 0GB

wpob 3 sydweuien QuTmeir wig!? @ | I+ the above

5" — 3! direction of a nucleic acid. Write the m of 5' and 3" in th

Statement. T .
L. UTWIH STUIFF 66T e a’:rrulle'wiﬂ 31@19&’5““@ 155>

Why is typhoid called as enteric fever? g _ 2
g ma: UGoBeupl SumE LOFIEBET @EIDITE eumpsiiman?
in a pond ecosystem?

Glb Ben G o gitenn OHTLTLSSTON FLOGLT &

QM G GPmHeme LOERTL 6OHEHI6D 61
How are the different fish communitie i
fiplemimet - Moty S 8
alleurl.

Describe species — area relations i og scale.

— IV /Section — IV
SPHSBTEID aﬂmn&a&@&.@@maﬂeﬁ&mm
Answer the following qu%s.
SIL STeVSHFH60, Sl GFul Beemilis el uBSmer allensEe.

(S1606V5i)
5]

RNA — 2 608D -
Explain the role o%!ta during pregnancy
\ (or)

‘RNA worQ‘:uss.
esnfpagme Oweralamasd e sellu e Buimass Gxtelamen alsns@s.
' (S16060%1)
%5@5@‘“5’ gnl. GpmUIS SamiLigeded, PCR-6ii umidlenen eflenssEs.
i ral selection through industrial melanism.
m (or)
the role of PCR in clinical diagnosis.

2X%5=10

m
P
=

5
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wrHfl elembsrenr 2019 - 20 / Model question paper 2019 — 20 - (5)
GLosbblensy  @yewtmib Qe / Higher Secondary Second Year
2_uiflwed / Biology

(BOD wpmd B o / Tamil

and English Version) A
o 2leTeY] 15 [bql.lS]L_l'ﬁlﬂ'JGTI + 3.00 D&l @lDﬂ';ij'J LDQ',]U@[JWJJG“ : 0
¢ Allowed @ 15 minutes + 3.00 hrs Maximum Ma y .
pamydet - 1. simendg  elembsenn  sfums uBeund)  o_sitmm mealugs.mw F g
Oasiene)ib. AiF gL efsy GopulmUllen  oenmds  GHEHIET

istructions @ 1.

(2]

Leuras Csfleldsea).

BOOD (Disve0m) sl enoulenen WLECW epHINSDGL SIPEEHTHGMSHDEHD
LWSIUGSHS CouaiBlb. L kimssir amIeIBNE Gusiflsd UWSTLURGHS
Check the question paper for fairness of printing. If there is any
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline and pen th diagrams.
GO : UGS — 1 (2 uIf-sreurefuisd), ug®H — Il (2_ulf-ef P) Bl g5 60
sllent_SHHresv ellenLwisémaLb.

k of fairness,

Note : Candidate should answer Part — I (Bio-Botany) & P (Bio-Zoology) in
separate answer-books. b
ugad — 1 (2—uifl-sreurellwsd) / Part — 02 Botany)
(o@HuQuesiissit : 35 / M $7N0
Ulfley — 1/ Section= 8x1=8
@Ml : 1. DIMASEI ell@THEBELGGD shenLwefbso
2. Q&ETRéEsi BIei& elenL sarilsh D giuemLWw ellenLenuwiss CaibOHBHE
GBI GL6d sllenLulenesu o Gshgﬂ@&).
Note : 1. Answer all the questions
2. Choose the most suitable ans A om the given four alternatives anci write the
option code and the corrgspd gdingyanswer
S\D6UHEUET QUM IGTT 665 QD BT '- HIT6UTLD?
3l) Omeenen ) unsmshy &) ulLned F) GuiFens
Which one of the following is Qdﬁplant?
a) Coconut b) Bitter ( c) Pea plant d) Date palm
B\P6UMmsUsH QB 6T s sl sEQFlY WILENGESsH upiw sfwibn  Senem?
o) g eugaud - @CEECBNCHTD 16wl 6

&) sl Boo s

3 ¢ DTGFTD e165T: 5
&) weoir eI b -'%@wn@&mb oTewn: 4
F)  elleng Bmb - é%n@mn@&mb GlemT: 1

Which one of the following is not a correct
a) Seed shape

b) Pod colour

pair re

garding genes of pea plant,
- Chromosome number - §

Chromosome number - 5

¢) Flower position

Chromosome number - 4
d) Seed colour

Chromosome number - |
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3. RIR2r212 GIGHEDID IDJUIEED OB QaneiL G5 qen el F) Beneha o
3) Sl fauliy &) Bgonen S Ao ) P .R1RI112r2? "
What is the phenotype of wheat kernal colour for thc.gCﬂf’type ' d) Light red
a) Dark red b) Medium darkred ©) Medumied B e

4. 9m Goselsd g DL @Gy GionGamie aaﬁrmﬂfﬁ@aﬁ 23'0 ;)f')mm MG
wHmd CQuet_nBam Mensumeisy @@U"Gw"gwmmaﬂ@? Efmlﬁ ? ) Do 48
D) 44 wpmpd 49 g 17 wppp 34 @) 47 1woD ntaso ber wil] be

If haploid number in a cell is 23. The double monosomic and pe e
¢) 47 and 46 \@an

a) 44 and 49 b) 17 and 34
5. eGLBanBugls srenlLBaIG! ,
8dé aemiLBeas Siaraph 2_udfen 0

1) UsveusGWTe 2 _smenal 2 sl 2- _ e
o _emensy WL (BEWD o e 2-ul 1 o ulflenmiserr
) o _uiflss

9 GOISEW euenEWTe
o 2 _ullflssi.

®) 2_Uysseemouilsd Hs LOTHDBIBENETIU e il
) o OUussaenowls Gpéu wippepomLw B 10X

Stenophagic means _
a) The organism can survive by taking wide range 5
od

b) The organism can survive by taking narrow range
c) The organism can live in water with wide rw salinity.
of salinity.

d) The organism can live in water with narro
6. SpeumeusauBmisT abhs GEm! LGOS 5_1;£'F ghidslemws Gnilesna?
S) UbEsT —s0eiL) —> SOUY UD U@He!
o) Ubssit —e6160 —> LImLoL
B LDeme —eUGHS!

@) 2 _Hibs EBensussi —»LDBNILY
F) SIeUImIEsT —H(LPUIED —LIMIE ()

Which is the right represcntatio%tdms food chain?
a) Grass — Earthworm —» Blacke#ird —» Hawk

b) Grass —»Mouse — Eagle
c) Fallen leaves —* Eartl — Black bird —»Hawk
d) Plants —»Rabbit —ex Eagle
7. SpsemLeubenm U WIme elenLenldh &HITeuIeH
-Y(A) B Quyed

(i) eny@smiliD
(i) w@ng@asrrm_ﬁlx - (B) smp2_jib

(iii) aJCBa'rer - (C) el @WliT eumpdens

(iv) @Byml wr - (D) sel 2_ullr yehams

a1 (i) @)D(W)A o) (i) C (i) D (iii) B (iv) A
® ()C (iii) A (iv) B ) (i) B (ii) D (iii) C (iv) A
Match the following and find the correct answer

- (A) Water ferm

- (B) Green manuring

- (C) Symbiotic bacterium

- (D) Free living fungus

(i) Rhizobium
(ii) Trichoderma
(iii) Azolla

(iv) Crotolaria
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g () B (i) € (i) D (iv) A by () C (i) D (iii) B (iv) A
o) () C (1) D (i) A (iv) B d) (i) B (i) D (i) C (iv) A

wbB6T DOBBIOIAPEN G5 BIZIg6D man 1 NgLianremngy).

o) opegiun a) USA (aiGiofdmn) B) BidHur  #) UK (@dleonhbsn)
Folk system of medicine is popular in
2) Nigeria b) USA ¢) India d) UK

Uifley — 11/ Section — 11
geB@ID BHNeNE eflaidsasen e, eI wedsmeIb.
Answer any four of the following,

&
GoOPaals BmLpmD LT Gsmen 1R, &0

Write the practical application of activation of nucellar tissue
SSBE 5GP WIMNSDS CUIGELMITEETS 56FH WIHBHDe BHH ILBoHSI
Differentiate missense mutation from non sense mutation
weiienmn ANTelr Opolpepen s1apgis O
Write the principle of electrophoresis.
GBI FOTaMbSEHGEE BIeHE 2 STamksmen 61(&!
Write any two examples for ecological equivalents.
Qipsd Andl alCurwgid Crmas. S&snE 9w @_5 (AE(CH
Pyramid of energy is always upright Give an example fi
THC — ulein @remi® uvwsiumGassnen S1(DHIP

Write any two uses of THC , ( "4
Uifley — IIT/ Sectj Q 3%3=9

gep@Id apaiip elemsseEmse siamwe @1@) alleuir 616001-185@ &L LTWLILDTES
sllenL W Eab.

Answer any three of the following in whi
uCLmells Gleguilsh STEmiu@D LSO, 2
Write about pleiotrophy gene of Pisym @
@enem &b wrMMlGET sTENLILIGL \an ? 2 smrewid Qsn(.
What are comutagens? Give exat

Befls@s 6fens(LpemeT&neD @w,m 2 6 SIULIIWE SHeueLoiILEHamen TSI,
0

101 No.18 is compulsory.
SEEMID UM 6T(DEIs.

Write the anatomical adaptati ivipary germination
. FHINY HEL @060 wmﬁu_su&&msnassmm EI(DHIH

Write the benefits of man cosystem,

Gl HEUILS Smenar TISHRIT LUGSS Anbs LTl LWITEUESSSssTeL
o157 eflends @, \
Which is the best conventional method to introduce disease resistance capacity into a plant?
Explain.

dfley — IV / Section — 1V 2X5=10
Bpsategpid alembsEhse alenLwiaildbae|.
Answer the following questions.

Bosalszmend sreay almsuls semiolemnu sfsuf.
(DISOEVEHI)
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PHB — g, PLA - o Lot g@uiGs

Describe the structure of dicot seed
(or)

Compare PHB with PLA
amenpulsd mIsHOUmAS Gawsiipsmmsni auflsng ILGHBHID:
(DIFVEVBI)

@uiiens wppb 1oefls @enb apsold  GeusfufiLOUBD  LAEDLD B60e0 AT Senaey, d

slleungs.
Write the micropropagation protocol for banana

(or) ) -
Discuss the natural and anthropogenic soruces of Green House Gai@ssxon

ugd — I (e_uifl-alsomdlusd) / Part — 11 (Bi -@y)

(PLCuswisshT : 35 /Marks:3
Lﬂmaj—I/SGCliOH—I 8x 1=3

GOy : 1. Smasg elanssapbah el weldsaD

2. Qan@sslulL BiHE el sefsd s SDI—UJ sllent i Baiess,
GO GLe el uimenub GFTHoH! srggu.

Answer all the questions

2. Choose the most suitable answer fr

option code and the correspondiner

HILACLNET (LPHETenD é)ﬂ@_rb(%é;rrmlj] mg';rjsmin_rnb fenev albEaHTIDL (WenmGu

ok
.

Note :
he given four alternatives and write the

) O@ns wHmD Wwell&HeT
&) weflge wopn eIL6 F Q
@) wr@&st WHDID LeilGHeT Q
F) Wwefge b U,
m worm are respectively.

The primary and secondary hosts 0
a) mosquito and man

b) Man and housefly \Q:

c) Cattle and man .

d) Man and pig
LipeupeueneuBmIaT a&@ﬁ,&@s&r@wmmm SMImID Ss060?
o) BaufiGasrdad e Q) s 2 Led eevL Ganey
@) Gaibwid Gum '\{mner 2 I Q&nsitened F) QLIS BMbENS 2 L
2_(BHHIBV \Q
Which one aof t wing is not a cause for infertility?

\ b) High body fat

a) Varicocel
¢) Ingestion of Cadmium d) Tight clothing in man
aflwups Bemenaud semiGLy

o) Gpevevilwr CsrGamiGu - HApBT eug@pruisd urgin

o) efiumgyed - B - &E0RIT60 Sipme
@) HIV - el esiexiysd
#) GameigLm DisOLIE66I . @Bw elbsD
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a) Neisseria gonorrhoeae

www.TrbTnpsc.com

- Affects urethra

b) Hepatitis B virus - Liver cirrhosis
¢) HIV . . - Enlarged lymph
d) Candida albicans - Inflammation of heart ®

i, BPAGUSTUDDE LTed @GyBonBsmbast upfiu o e SEo Y7

21) e, Gus Bmeuflsn 2 Ledsd 2 _siten gaiGsng GFsoed Browne Gwoudd X
@CITBLIBFTD 2_sieng.

24) 24eTBeled 9B Grwsudh X @GynGwrBsrpd, GuUgsMe ST’ GrweuBd X
@CyrGnBambasEhiD @ _siene. S

@) aemssisy  @geil  GFwsu@d X @ng(}%wn@&@m, Quessimstlsy  EITEWTTH

GFwsiuBd X @HCrnGrCarupd 2 _siemgl. é
#) Gueseis Gei@ GrwsuBd X @GOrIGLIGIMbmsT . sieTer, USMED e BETIE0

GrwsuiGn X @CrmGuwrBamb Esdensv.

Which one of the following is a true statemen ing sex chromosomes of Mammals?

a) Both males and females have only onc nal X chromosome per cell.

b) Males have one functional X chr gc whereas females have two functional X —
chromosomes. %

¢) Males have two functional X c@)somcs whereas females have only one functional X
chromosomes

d) Females have two functional &' chromosomes whereas males have no functional X
chromosome. Q
5. dpmesi_aumenn GCuIT(hHEingIMTe el STenis
(i) QLirafuifl &6l iehmanlen eI
(i) ggrgndld &mevih (B) wabsranbupm ensuselel Ldldeasid
(iii) 19(3mnsuﬂuisiw (C) LT 1Qasil 1DMDID LDEneUHaT

(iv) .gg,h(‘sl_nmﬂw aneow (D) smiaensubiien QUIHETeLD

o) (i) B ) D (iv) A &) (i) C (i) D (iii) B (iv) A
®) (i) D ii) B (iv) A #) (i) C (ii) D (iii) A (iv) B
Match ¢h®gltetving and find the correct answer
(1) Tcrli%eriod - (A) Age of fishes
(ii) Jurassic period - (B) Dominance of invertebrates
(iii) Devonian period - (C)Mammals and birds
(iv) Ordovician period - (D) Golden age of Reptiles
a) (i) B (ii) C (i) D (i) A b) (i) C (ii) D (iii) B (iv) A
¢) () D (i) C (iii) B (iv) A d) (i) C (ii) D (iii)) A (iv) B
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13.
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QLS 19 Qasmet geil SiEOND SIEDPoHBILGHFDBET ,
) @@ﬂ‘gﬂﬂ:i) amﬁf;gr Gga?;urgféga,aﬂ% Lpmeir GuTsd mremiILBHAme .
) GOseNled siemaumeit @b uifufsd Quiflus LG g J:‘FIUGMTLD(T?QS'!T@M?,
B) aGmelicd seeumer pyiby Gaeeder GLegenlBasi GUITE sremULGSsipey,
F) gOeefled oeaumenr myibl Gusomer GUITE QouIsLIBEBTTET-

Why dendritic cells are called s0?

a) Because they look like teeth of animals Q)

b) Because they cause dent in the host body

¢) Because they look like dendrites of nerve cells Q

d) Because they function like nerve cells.
Slpaumeusteuppiet a1gled SIfs Sianalevrer £ILEOEBATTEV ) %@l"
&
12

www.Padasalai.Net

Si) o) guist @) @efisliurs HbHS 9
Which one of the followings contains maximum amount 0 [co

a) Beer b) Wine c) Wine coders d) Gi

Spaumeuatauimist a1g Sl Ggeusst UMW &m‘;@mm aUTehSIWLD?

S) SIWMUBST (WPUSHIWST ClF 0BG o) S usodImenr OFevaei

®R) imeussit rpurLenLwng GFsussr ) g&ﬂ rmun@G  DiML.bH OFsosen

Which one of the following is not true regardingstem cells?
a) They are totipotent cells b are pluripotent cells

¢) They are undifferentiated cells y are differentiated cells.

dfley — chion—ll 4%z
gBHEID Hr6E elamEssEndd 6l aLb.

Answer any four of the following,.

tRNA —m, @evgaunddlsd Gamel STa[l)l 618 &l BID DMPHFCBMbD?
Why do we call tRNA as a adapt cule?

BTeE  euenad  wWCflwndsmensd  GUUILG, owupfiiberer  Gpruis  smyenisems
(G NNGE: S ;

Mention the four types ma \Qﬂleir causative agents.
Qul LmeoLmdlerd - eueng

Define metastasis. [
Cprujbdlsmen 2 h Sirellelr (peold & BUBSBIBT0 aupeile LR eSS

Werite the role of ﬁ@ﬁ in biological control of pathogens.

Senemt OJUMNL CIGTIMTEY 6IeIa? ©_SMyemid QEmE.

What is coextincffeg? Give an example

Qambsyelll Lg 8 euemawren dplemisamen o _siieL g, Slaumen UL iguweibs
Red list ob a book consists of eight categories of species. Mention them.

Ufley — 111/ Section — 111 o
ges@ID eyl elamssEse elmiwel omubmso efem s16emil-186@ &L LTUILDTE
allemL_wefl&aea|L.

Answer any three of the following in which question No. 18 is compulsory.

ureden BenduGSED, UTeled BenIOUBEEHmS il Gubul Lgl ee?
Why sexual method of reproduction is better than asexual reproduction?
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. :IenaTe0dL GLmgnifiu, SleoieNa g;

. &
Is phenylketonuria related (o albinis

. uRITOBHD UG UL g
Gene flow can be a strong agent of

DiLe QQJ"U'H@LUJQM?, 2 _engl efenli@ SMyeHID HbHD-
m? Give reason for your answer.

B 90 awellemowiten (pmeui. eflend@s. asTH?
evolution Explain how?

5. HLW é)l.@ﬂﬂlm? LOSBIUSHD PCR Qmfeopin ugsems e LLEUGHSMD?
How can we utilize PCR technique in the field of forensic medicine? @

p. BhPwnelled, ETGsst UTmIETIND Qusisac usig upll Am @Boy ﬂ@@
Write a brief note on the role of woman in conservation of forest in india.

Mfley — IV / Section - IV & 2%5=10

HDHSTEND 6Nl & BEmEE ellenLWllésmeayib.

Answer the following questions, 0 '
0. LSS o gpalup &t albessHHa o eienanwlimu alensEs O
(Si6060S1) ‘
HGP — W& o2 uBunsmisst woBpib ardHismed Feuredsel Ub Hls.

Explain the anatomy of testis with the help of a diagram
(or)

Write about the applications and future challenges of HGfO

21. gyl QUL sela UsmLSmeT alleuTs

(S16060S!) :
o ulgpp  smalsEdse  gbu, &uj]rﬂa,sﬁQm@ FHieUmIBELHMEN  (eTSlTallenar)
QeuafaHTL BEIFIDET SieuDens afleurs. Q
Discuss the properties of genetic material

(or)
Discuss the various responses of 1ivin®ms towards abiotic factors.

O

\
&

&

Ann
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estion pnper 2019 - 20 - (6)

J R " 1
20 / Model d condary Second Year

o1l efewrggreh 2019 - her S¢
Gushfsnsy @7edLmb QU  High .
p_uifwsd / ! !""';;“"‘"d fnglish Vversion)
(F6D inhaed euiaD gt/ Tomi: Qo |r»p‘;||'|Qur,.,-,,,’
|5Tg‘@ ey - 15 Fifussar + 300 sl Maximum M:h
Time Allowed : 15 minutes + 3.00 hrs _ Lt
SfyTEsh 1. mwnsaphy ensTTdHED gfuwrst .
Cxisitsnayd. oFEILHAT om0
.5, OpfaldboHab. ) '
;::? l:;;‘fjﬂ?;;,gml enLDWT SN LDl'_(B@TLD 610105 : Ul:f@f(’;?@'ﬂif.ﬂg@ﬂlz
UusUGHS CausBID. UL BT wml“ﬁm?&r hore is an ;55’::0-
Check the question paper for faimess of printing: ¥ 1ack of fy,
inform the Hall supervisor immediately. . ( .
2. Use Blue (or) Black ink to write and undﬁ d penlel to Fir aw diagramg,
ugd — I (2_uifl-srsugeiiwsD), ved ! ulifl-eflsumielilet)  BefSgaf
afenLdorsiisy el waibBa|D. '
Note : Candidate should answer Part — I (BigBotany) & Par t — II (Bio-Zoology) in
separate answer-books.

LI
| upand o-sHEIBT SEILIAME g
i U:Gﬁlmng;ﬂm‘%'

ra

Instructions : 1.

@yoy :

/ Section — I 8x 1=}

@iy : 1. SimeibHgs elambs eilemL el B BeLD
j L setled Waayb goysmLw ellspLenwlsdh Coimhas

2. Qar@éslulL BT
G (L6 aﬂmj%mmm Carehg 61(DHIS.

Note : 1. Answer all the guestions
. Choose theh@lable answer from the given four alternatives and write th

corresponding answer

' option cod
1. 2_Hemens aﬂlprsjaﬂsa'wx s UL ULGaE!
&) Gamemr Quom (Haassi

) GaupmlL Gon B4
&) mefl Cr HaSS F) @ Ul B Guor Bssi

Eyes of potato g referred to
a) adventitiQus b) axillary buds ¢) terminal buds d) intercalary buds

") Bemel PO HEBIDE HPEME0 LLSUGESILLE apdpe), 9oms
<) B e GpBameulsd aef@s suetirang.
) @@m&mﬂlu Wdbs 2 _ulflenb
#) @emey DImEISHHID
E.qui is the mostly used organism for gene cloning, becayse
a) It is easy to handle.
b) It is growing easily under optimal condition

c) It is the safe organism

d) All the above.

| (N Jr—
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3 eBol (A) : uflanise, Quirdb@f @Gsmmeng®

22 ' 5 T thebLD
EaELGE s, o_gelulenrey pemgmuli Hd

sed (R) : bisvgmuli St Qowegiss, Wiy pemgpuliss oibs et smLsHEH
RUETITEUG ,ej@aser:uu@ag]mg,,. I

a) (A) &f; R) sam
o) (A) seum; (R) e

@) (A) wpod (R) QrenGlw oM, gyemmsd (R) asig (A)-borem m’ﬂmc’sﬁvwﬂa’:@
Sienoweilsvensv.

This is the pattern of question

Assertion (A) : The explants are sterilized by mercuric chloride.

Reason (R) : Sterilization prevents the growth of other micro organis in the Culture
medium. '

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct
¢) Both (A) and (R) are correct; but (R) is not the cxplanatiow

d) Both (A) and (R) are correct; (R) is the explanation of (
4. speremssis, smfelus opieiss, Ll Glmu‘.lumsml_g,fi sniruer B#fllsmU @

F) (A) wppid (R) @remGBw #f (R) esiugl (A)-Goren sienabaons ‘9493@

Srours Ceoramen SHEMDT BHDEHS ST6ID
o) @eNFBFTEMBSGD GEUTHHHMIBELD Gemi_Buiwim
oY) SMeufmise emeiedlbha! 2 flghaid OFwsO(Lp A bBULILBETENSI.

@) ofHgely geflulsmed GaNgs GEweOWPMD %ut@eﬁmgﬂ.

F) amiruell Gl 66U yel QeulILLDenL Hevld 6] DIFV6V.

Now a days, scientists suggest carbon seques tigh is a solution for global warming. The

60 UTEHSEIUBETENSEI.

reason is %

a) The balance between photosynthesis and respifation is disturbed
b) The absorption process of plants ﬁg@il is disturbed

c) Due to high intensity of light respiraghiqu Process is distur.bed

d) Carbon sequestration is not the%@r global warming.

5. gmisnw Gbur® QFWELBIL \, _&,(E&,m.sﬁassﬁ
S SUTWIS]LOTED quraflaney WIMMEHNHS SBUUDI

o) use G0V surru.;ehfs&{aﬂwmﬁn_sugﬂm QeusAUILLILGEINS GODLILIEI.

B) (o) wHWb () ' | |
F) L&y o muHS D] Heil BHMEUBMENE GMDUISI
jecti t mechanism are / is

The objectives of cl pmen

J i 'K limate change

a) Prevention of dangxo c

b) Reduction of emission of green house gases.

¢) Both (a) and (b)

d) Reduction of elec
6. Epaumeueneupist THS B

o) oeniam oGFTET

i the following is no n
v;n:Chl:ne " zollae b) Azotobacter ¢) Clostridium &) Nostoo
a) Anabaena a

tricity generation and its need.

o eplygoer (No) PooRpSed ol 2 ulfl sisds?
o) oEGLIUTSLT &) denmerogfd &) BreOLTS

t a free living N2 fixing organism?
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(A) Gungyemas ol @hunafed aIemiD Umml

Ih UU)ID.

B) @ gyioma Ot Gbumels 60

B0 (A) ~ admngip . 1 9Nength
(B) — admngin L@

W) (A) — admmb LriQuif
(B) — adsmsngib oy Nennyid

@) (A)- F&HHMID GammuidhGLLLID @
(B) — gésmmyb  oBeonGub@AGUTLD

B (A) - adbmmpb oBGur EusENBUTLD Q
(B) — gdanyd GamnuwirdbBLLtD 0

(A) was originally grown in North India. &

(B) was originally grown in South India.

a) (A) - Saccharum officinarum 0

(B) — Saccharum bareri
b) (A) — Saccharum bareri
- (B)—Saccharum officinarum A
¢) (A) - Saccharum coarctatum \
(B) — Saccharum alopecuroidum
d) (A)- Saccharum alopecuroidum O
(B) — Saccharum coarctatum

SOPHTLIg60 HFs Semalsd LUTfLOU
9l) WTNADI  616rOEHeVTLT

&) enfellwr QuesTLOWTENT

The very common rubber yielding
a) Manihot esculenta

c) Hevea benthamiana Q ~ d) Hevea brasiliensis

T SreuyLo
) JLIGED  ETEUTENOIQ ST

i) afagwr UGrdledweienierd

tamilnadu is
b) Ficus elastica

sy — II/ Section—1I
gBHEID BTG efenie. oL WieldBeyD
Answer any four of the
e CsIOL L &&SHT6) G Quemt G LEs STISHDBGHD SenLBuw o _aiten

Coupyum(Bas6i @ga&q IDBIS.

between male gametophyte and female gametophyte

Write any two gli
LOTLIED! GUENTUL S STEUEUND| &L L eMID&BE0TID?

4%2=g

How to co (ajfene map?
urd eufl r&mﬂ@un@sﬁ (DanLyegen) swumfidsn dsisreaiiuiso o sien Gl

TIDBHID.
Write the chemistry of biological hydrogen production by algae

Pwm sreuy CFsLels CFed Feueny ersueungy B&HSMD?
How to remove cell wall of a plant cel]?

LDemeV&EENEN LF&EBETH 6T6lmIed e16Ten?

What is known as tree line of a mountain?
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" apeod  GeusTITeR Lyt ey esy BLD wingy?

15.

16.

17.

18.

19.

20.

21.

What is the plan of third Agricultural Revolution 7

Ufley — 111/ Section — 111 3%3=9

gesEID Apeipy ollenndsam@nasg el wef) Sleuprso elemr s1emi-186h@, HLLTUILTS

alenLwefld s,

Answer any three of the following in which question No.18 is compulsory.

UG ST &meymsHeds BOLGOUIID apeim Benemmeommen 6119515 Q
Write the three fusions of Angiospermous plant fertilization.

BN YRIGHHETEND sieiugl @By wyugmIb@GeGsm Haugh @mLF G&dg&wm

@ 2_STyemid sisueuTy?

Codominance is an example of intragenic gene interaction How?

Wpwewwrer eemiy wimib @Epupsnwwpn ensmiy Beubiibes o116
CoaupunBEensT TIPS
Write the differences between coupling and repulsion. A

Bensowiren Geustimesst Sifelmahg) a1smTed 616760 ?

What is known as sustainable development of agriculture?

Bumbens Geauenradieny a6LEG RUBMEEGHS SHHOLGED @@5@@,&3@@ Crpmée
BURIGaSTEs SHSILGADE. BB leTbEE.

Organic farming is considered as the movement towardhilosophy of Back to Nature.
Explain. - : ¢

S

Lifley — N/Secti{: W : 2%5=10
BPHETEPID 6T BEHSH m'ﬂGU)LuJGTﬂtEiE,aSGuLb.(/fu
Answer the following questions.

QB USGID SIS CTSS CUTDSTYES

BenenEemTesd aETILSBaEmWeL G

SIRUFEORIENET  6T(REHIS. n L | N
Summarise the whole life Cyclwlosinenn plant in the form of schematic diagram.
or

How to introduce herbicide {olesence capacity into a plant? Write its advantages.
9n Gwsd LOGEITL_ 605 Sk U B Heed gBUBLD STHSBIGMETL LHH 6160HIS.
(S1606051)
GylpEeney 06K SUrBIGST efldbens LUTOL CHITEIE! ODDID SEEUESIOTIGI.
@G ETEMDULD @ir\ HBILE CleNBGS.
Write about the influences of temperature in an ecosystem.
- (or)

P id of numbers can be upright and inverted. Explain it with an example each.
yram _
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1 (Bio-ZOOlOgY)

f Par!
ug® — Il (9 uﬂﬂﬂwﬂﬂmm / Marks : :35)
Quesmel 8 x
(10l P l/S (,un; i I
jﬂﬂ 3D .
@G 1. omenghl s mEnH@!P qaﬂm‘) HEald gLt DG Qﬂ'mp
; %
2. QEn@dminiL preid oL 11D
@I GLsr alanLufsmenid esipo
Note : 1. Answer all the questions . en four alterpatives and v
2. Choose the most suitable answer from fhergw rQ) b
answe
option code and the cor-FCSPOndmgﬂ:]s\) A 38@3 0 @Uﬁﬁm‘m
L o® sbuumse Upbs HIEG GWEDD” mﬂs;l 5 GeT T @“-"‘5’5%&
sTeRUL@aper. SiiUYGuee ng)@wuﬁgrmlf\loxlﬂl Kﬁﬁ i i W

o) AP
Four children of a couple have blood
the parents?
a) I b) IPOxIPI
o) Cammial— GammGur Gamiieied
> BamrGuor  gmliiwesrerd.
<) GamrGuor Gamlede—> GanrGlr eyl

B{A
é};) I/\IO)(] I groups A B AB and@hat COUld be the Genotype

QO

C) IAQOXI
2. weigefar uflemmo euenreduller aflumer et Guom e1EL 6T

N

O TR

Gammidle(®

— GamnGuor ariifwere. @___}
@) GaptGur aysLed—> GamrGur Ganyl Gammiei®

— GamnGur  Frliilweerd.
F) GamnGur Gamilsderd — Gami
— GamrGwr FriwererD.

Which ia the correct order of human%ution?

a) Hominid —>Homo habili

b) Homo habilis —Homo g

c) Homo erectus—>Horhg [l

d) Homo habilis— ogiini

3. dpeumaaauBmIsT a5

o) uuflés @n&&w;ﬂ QF S w

&) subwirdlerd Q DM

@) &I60T BT LOEWIEY L&
gL Qsma

7). w@surﬂmn\.'rp .

Which one oﬂg llowing is not a correct pair?

a) African sleeping sickness - Tsetse fly

b) Amoebiasis - House fly

c) Kala azar - Sand fly

d) Malaria - Aedes mosquits
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' mﬁfgﬁg&& &s%?ﬂ%l{-smm SOP euenyh swgw e gt eveusit D STVISES
6)1 , . Eg’ &gj Lb .60) 2 . . ‘ ; al G . 35;35-
o) CUAIERST EifhPLeidlers O Uehenad semens0stsisd sifsdmbal GUDUU
&) MULGLTUGCHN Gy umsol Geumy
@) eulgtufur genyGs
F) oEmiset Gmibusbigfer

To cont.rol the gfowth of strangular vine in citrus crop, mycoherbicide is obtained
a) Bacillus thuringiensis

b) Phytophthora palmivora 0
¢) Pyricularia orizae &

d) Agaricus campestris
LDm](.BEfTE':G(ﬁ&: @GﬂTl_fr,'_@UU[TGST Q_[Bu'&,g,‘]é;@ er.8E:mensuenwalL &'ﬂ&ﬁ@m G=Ta1=068u —
obosl. BsBEGS smyemd
9l .85TmeUleh EULTTFEDS STHsmy gHpD SDLWUMNES HEMD - BSOSV,
&) enssECmawdled QsrelfiGw, DNA o pusdésmsd G
Qe sieng.
B8) wahsmas FiesmCUDDL SMLW DausssH G
61.8mmeneoullsy  Fsvensv.

F) Qamupuenu STESmIGWHDND LWL aSHsH G.Tsx Buiisssmd s.65Tso50uIs0
(AR ¥

SRz Ssb

Saccharomyces cerevisiae is more suitable for th
E.coli. The reason is

a) E.coli does not have machinery for glycosylatiof 61 starch.
b) Sachharomyces cerevisiac has machinery synthesis of TDNA.

c) E.col: does not have machinery for glyg#oaylation of proteins
d) E-coli does not have machinery for gly®agylation of fats.

6. SpeumeusTeubmel 1% GenBeeulil (@. peoLw o uiflemnbd?
Si) B <) Ysdl T SD) RNBHS

¥) osmsk
Which is the stenotherms fromﬁenwing?
a) Dog b) Tiger c¢) Human d) Lizard

7. sp@ (A) : @pSwn, 2 & w o _siten 17 WsiGuiw o _uifn USdUDSS Ssow

OBTewIL. V!@ DI,
smemd (R) : Oburelgnwpl sieiy o Wfemsmass Waab ghpzts e shenzy
o) (A) &fl; (R) s

) (A) pam; (RY

&) (A) wpgp (R) A R), A-wow alEGEDIHL.

®) (A) wpge (R) &l (R), A-sow alenssalsdsnso.

Assertion (A) : India is one of the 17 Mega bio diversity countries of the world.
Reason (R) : India’s geographical location is most suitable for the organisms.
a) (A) Correct; (R) Wrong b) (A) Wrong; (R) Correct

¢) (A) and (R) correct and (R) explains (A)

d) (A) and (R) correct and (R) does not explain (A)

uction of recombinant interferons than
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10.

11.

12.

13.

14.

I5.

16.

17.

18.

19.
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SUDDE Hh@ING et 200 — @GO
) onamm [HEOEY BT HI

) @ODHGH  OING| DTS DI
@) Guonawonen smnmigdh Gm@ eNevsiald@h S
) BmIgmmid ionmeni_un s,

Air quality Index number 200 denotcs .
a) good, no pollution b) Moderate, low level po]]@

¢) Bad, unhealthy pollution d) Hazardous, pollution C

Moy — 1/ Section —1I 4%)<g

geHRID BreE, elembameEndd almiwafbsa. &0
5'?

Answer any four of the following.
Y — onihs wpugmibse Bmen ic0eScose Be0e0THm
Y — linked genes are non homologous why?

QU WU — @ GmETd GariumlienLd gnDis.

State one gene — one enzyme hypothesis -

8«1 gmBurg PET Opd\flaer abmiFE@pens n&ﬂu@ggub QuTmENTHS DHSSTH Geir?
Pet plastics are no more environmental hazardoxs swnces. Why?

QefNGHEHTERIL BUIGSHD ETEDI6D 61631637

What is known as photokinesis?

Biblenevseiar Galil oBsdmands Tl L1D 6UEMT.

Draw the diagram showing thermal zoné$ili col water bodies

Wened ©_ewiayLl LSBT sleileunmi &SLF fUmLD?

How can we control eutrophication? g "~

6U

<

N
Ufley = / Section — III 3%3=9
g8HED apsiml elleTd:HEnsE,, 6 well SisuBilsd ellenm eTawi-18&6@ &LLTWILOTS
allenL wistlébE&a)LD.
Answer any three of the follg I

SibuTailed [EGD)LG]U@IL% .
o eiten GeugUn@aEenen e

which question No.18 is compulsory.
WPOBESD  eBUTT o Hamdsb pmpseh Sl

uefa@L- & SHIeneTi

How to do amnio
Ly "—’ﬂuﬁ"@
swgs.  °
Write about the th¥rd phase of translation in protein synthesis.

wafly eueni&d] aomiGuorar o _HusBuls Lghmesamen almben LSS aamIs:
Give schematic representation for the production of human growth hormone.

dipilents uebaumaHGaIUIE APRID IbaTIEeT UM 61D,

Write about the three indices of species diversity.

J

. 0 |
WeLwTdse Bapals GuIg B QUmID cWeupTD MHenevsnwd ups
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B . _ . dfley — IV / Section — IV 2x5=10
LPEETEUD  eNle & & @ @, sllenL wieds @6,
Answer the following questions,

SN0 BOLOUDID  smaymmsD HDID  eueTiTaBmG LEBEHe GFUIEOBEE Gi(hb BN
Sl NG S.

. (Sis060g1) @ .
GDDFCFWS BNl 56060, Crens oIFALed QamfsopIluHHET uu@ gallTes
Buenzg. elmsgs eaeisurm? ;

Briefly explain the mechanism of fertilization and implantation in humangbei

(or)
Fingerprinting technique is inevitable in the detection of criminal activiti€SyExplain how?
Bumenass Csziey Gsm um iyener alenaGlh FHaTSHW S BLjpE o aflsbG .

(EIV)) , _
uedBeum  euemad  Buwisdy GCETUISSMLS &MY euem Wi Seney  Geusdu@d
(PODHENETUD elleurs).

Explain the modemn synthetic theory of natural selection \

(or)
Discuss the various types of innate immunity and their ing mechanisms.

o~
BN
N
&
RS
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o ufflwed (omglfl e ihgbIen =
BIOLOGY ( MODEL QUESTION -1 )

BIO BOTANY
Ve creyr | D 3 4 5 6 7 8
Qn. No. e
y = / o
oflen_d@ il (R @ | | ®|2|"7 ___L
ANSWER KEY c|l plc | B|PD A 1D
BIO - ZOOLOGY
efewIT eravaT : 6 7 T
__On. No. ! 2 . e
cflenL &&GBui® || 8 D Rl
ANSWER KEY C B C B A D D D

elleurrT cTever ]
Qn. No. ¢ 7 °
flenr &@mu§(® 8 2 Fr
ANSWER KEY B D C A E‘ B D

TN

elilasirT mrmy.\ -

On. NN\ P23 4 s e | 7| s
Qﬂ@,&‘L‘@% S DBl e | @ |

ANSWERKEY p | p| g : — ]
A A A C B

‘ .
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BIOLOGY ( MODEL QUESTION - 1II)

BIO BOTANY
[ efewr eTeny
. Qn. No. 1 2 3 4 6 7 8
afleoL $@GuIG Q| @ | F | @| | # | 2
ANSWER KEY C C D g A D D
BIO - ZOOLOGY k
QNGuIIT GTGYT -
Q: 1{’:{) 1 2 3 4 5 7 8
aflenL &@nluI® % [ | | | 21 24
ANSWER KEY B A B A C A B
2 ufflwed ( LorFif) a&?mn&,gnﬁ?
BIOLOGY ( MODEL QUESTIOR v )
BIO BOTANYNQ
e e )
g’;” ;’Z) ' 1 2 P N N 6 7 8
oo &@&SuI® 2 | & | 2% | =
ANSWER KEY A C Is A
— - i
NGorT GTeusT i
| Qn. No. > 6 f 5
aflenL &@mui® Q) FF 2% |
ANSWER KEY ¢ C D D C D B A
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y
| —

mer-V
o_ufiflweb ( wordifl aﬂaﬂﬂdi;f) i)
BIOLOGY ( MODEL QUEST
BIO pOTANY _
5 | 6 | 7 \a]
&leviT 616807 1 5 4 4 a %
Qn. No. - . L5
afleoL @i |l a| @ ‘ é’ 3
¢ C
A e
ANSWER KEY D A C —L____
BIO - Z00LOGY —/'k
: T
aYeurrT T6TeT 1 ; ; 3 } 8
Qun. No. ! : .
aflenr &@ui® | [T_S - - i
ANSWER KEY D B " _ . 4 5 i
-é"—llﬂlﬁujeb ( o ﬂﬁ';‘jﬂdl'- VI )
BIOLOGY ( M P QUESTION - VI)
o  BOTANY
’ Qﬂgjﬂg@ | a;l s | a5 | s |7
aﬁ?mL$@Q57u?@ IS AN TSN TR [ P
ANSWERKEY { D > ) :
cj} : : ! |
Ny

(\ BIO - ZOOLOGY

&flaw1r GG "
4 q 1 ) 2 3 4 5 6 7

e @7%”%@1¢@
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